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Question ID:- 2589

The following table shows the percentage (%s) distribution of number of students qualifving an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135, respectively. Based on the datain
the table, answer the gquestions 1-5:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

Trteiiaa iferst ® @9 2020 3T 2021 9 A-G T1E {9mmes @ v=e wian o s=6m i # wen F
famwen =1 Wiae (%) geE T 2| EeeE G 2020 #2021 § FH Eanaal i aeE w900 i
135 2| Tifermm ® == F 309R W WYS 1-5 % I S

T AT T e

EEiEe I T = = (%)

2020 2021
A 21% 23%
B 14% 8%
c 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

If P and Q are the average number of students gqualifymg from Schools B. C and D in 2020
and from Schools E. F and & in 2021. respectively. then Q — P is

afz a9 2020 § FEmeEl B, € & D F 1 a9 2021 § faeneE E. F & ¢ 8 390 fHenfia o0 o
FH: P& Q 2, @ Q- P fraar 27
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Option ID :-

u ’
Option ID :-
38
14
Option ID :-
41
u /4
Option ID :-

10353,

10354,

10355,

10356,

Answer Given:- 35 , Option ID : -10355

Question ID:- 2588

The following table shows the percentage (%) distribution of numhber of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G 1n 2020 and 2021 are 90 and 135. respectively. Based on the datain

the table. answer the questions 1-5:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

TreAtetiae Ao 5 ad

2020 F7 2021 § A-G OF FEmeEl @ v wWien O 34 et 6 g F

o =1 wiAwE (%) o 2| EEeE GH 2020 3 2021 | I et F awe w00 3R

135 2| AT B =12 % 39W T 99 1-5 F I A
=T TR e -anE =

=

=g ST Tar=ieET = = (%)

2020 2021
A 1% 23%
B 14% 8%
c 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
& 12% 15%

Number of student qualifying from Schools E and G together in 2020 is
number of students qualifving from School B in 2021,

T E o G & 2020 § 360 entdEn i e @ T B 3 2021 F 39 e f @ @

S ~ A A
Tehad 919 7 ¢

Options:-

% of the
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15

u ’

Option ID :- 10349,
247.5

u ’

Option ID :- 10350,

. 3425

Option ID :- 10351,
2.5

L ’

Option ID :- 10352,

247.5

(¥ 4]

Answer Given:- , Option ID : -10350

Question ID:- 2590

The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the questions 1-5:

School-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 0% 13%
G 12% 15%

TAleEs e 8 99 2020 33 2021 9 A-G OW [EeeE | yge wiE o S|l [ o g
e =1 wiaeE (%) T T 2| EEeE Go# 2020 ¥ 2021 § SH el s S w90 3
135 7| AT & S F SEE T U 15 % 39 A

1Y) TR - E

faemera SO Tamiaat 1 e (%)

2020 021
A 21% 23%
B 1—'1:0'@ 80'0
C 16% 11%
D 10% 14%
E 18% 16%
F Q% 13%
G 12% 15%

Schools E. F and G 1n 2021 1s

f; ‘JF;\' -~ J. s By - : r; %?
FEIMTEAT =6l W1 H A9 THa-l & ¢

The ratio of the number of students qualifving from Schools B. C and D in 2020 to that of

e B, C @ D A 2020 ® 3919 HenfE & o &1 99 2021 | femesn B F @ G 3 3
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Options:-
2:3

u /4

Option ID :- 10357,
51:75

u ’

Option ID :- 10358,
32

u ’

Option ID :- 10359,
2583

u ’

Option ID :- 10360,

25:33

Answer Given:- , Option ID : -10360

Question ID:- 2587

The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the guestions 1-5:

School-wise Dhstribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 825
C 16% 11%
D 10% 14%
E 18% 16%
F 0% 13%
G 12% 15%

T e |5 a9

& r f [t e Is n
ST TFEIEHET =l =g —dF 19079

2020 3T 2021 ¥ A-G TE fFmneE 5 vEe 9 8 390 @il o aGe F
T =1 ufAeE (%) 9 T 2| e GH 2020 3T 2021 9 A EEte i o w00 3N
135 3| i § 319 F 39W W UeF -5 F 39 o

o= ST T A (%)

2020 021
A 21% 23%
B 1—'10'0 SD'D
C 16% 11%
D 10% 14%
E 18% 16%
F 0% 13%
G 12% 15%

Options:-

The percent rise in the number of students qualifying from Schoeol D from 2020 to 2021 1s

9 2020 H 2021 ¥ fa=me™ D # 390 Fenf & @ 8 ey giaem 3t
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60 %

b ’

Option ID :- 10345,
63% ,

Option ID :- 10346,

_
8%

u ’
Option ID :- 10347,

12%

I
Option ID :- 10348,
Answer Given:- 95% | Option ID : -10347

Question ID:- 2586

The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G n the vears 2020 and 2021. The number of students
guahfying from School G 1n 2020 and 2021 are 90 and 135, respectively. Based on the data in
the table. answer the questions 1-5:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

TretafEs oo @ 99 2020 397 2021 9 A-G OW {Fmmear 3 v=9o Wi § 36 i f wmn
e =1 wiaed (%) et T 2| e Go# 2020 #2021 § IHW e S S w90 H
135 2| ATier B S F SHEE 9 OuvE 15 % 39 aiE

I TEEmAE 1 EEEE - =

T T Ta=mieE] 1 = (%)

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 12% 15%

The percentage of the number of students qualifving from Schools A-G together in 2021 with
reference to 2020 1=

2020 1 g5 W 2021 § A-G el W SH e et i S o aihed e 2

Options:-
. 140%
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Option ID :- 10341,
120%

u ’

Option ID :- 10342,
135%

u ’

Option ID :- 10343,
112%

I
Option ID :- 10344,

155%
Answer Given:- ? , Option ID : -10343

Subject : GP_29SEPT22_SH2_S1_B
Question ID:- 2627

According to current estimate. the gross envolment ratio in Higher Education in India is
around 27%, which 1= expected to be increased to........... by the end of 2035,

T HIHE F HEE W, T A § 2R A S5O S 27% 2 (99 "EE 2035 % A 0
Efnile ot e i b

Options:-

. 30% ,

Option ID :- 10505,

. 0%

Option ID :- 10506,
50% ,

Option ID :- 10507,
60%

u 4

Option ID :- 10508,

Answer Given:- °%° | Option ID : -10507

Question ID:- 2620

What 1= the concept of International Net Neutrality?

Options:-
o icw . ke B g R SR XA R o & s
Imposed hmitations for end-te-end Infernet access  TH FH H THL TH T 52042 HATHTAS & T HATHIEG Ti0s-d

Option ID :- 10477,

Broadband service providers can show preference to content

3 2 - = i r Fa s L
HMIESE HdT aldl 1':4'4‘-{—'137_[__' = Wid HEdAT 95 Fd 36 =

Option ID :- 10478,
Unimpeded end.to-end Internet access and usage ™ I T eI foT A TeeeT A T ST s T

b ’

Option ID :- 10479,
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All content that flows throughout the Internet should not be treated equally.

SEEE % WIS | TATE WHE G0 -aE o WHE B9 # AR e S =)

Option ID :- 10480,
All content that flows throughout the Internet should not he treated equally.

Answer Given:-
SEEE % WA | WA WA S -aE O WHE B9 H AR e S =)

, Option ID : -10480

Question ID:- 2601

In communication. a hizgh order of inference drawn from experience, direct or indirect. is
responsible for

[ o T o

TEO B AT A7 TS B ST d Hehll U 3= &2 F1 SAEfa HetatEa § 3 e fou s
27
ol

Options:-

Generalisation HET=E]
Option ID :- 10401,

()

Simplification TR
Option ID :- 10402,
. Ahstraction ?ﬂqﬁ?ﬂ"ﬂ
Option ID :- 10403,

Strong reaction
Option ID :- 10404,

Generalisati HTET= 0]
Answer Given:- FReratsation ' . , Option ID : -10401

Question ID:- 2595

In which of the following methods of teaching. the student has to find out the answer to
hiz/her own problem by unaided efforts?

feferfian 8 4 seams & fem oz § s # foe Pl gemm & S0 9EEl g # A0E G8e oI
T 7% B 7

Options:-
. Case-study method 0 (4 )~

Option ID :- 10377,

Heuristic method VUG
Option ID :- 10378,

Flipped classroom method gﬁa-ﬁﬁ '{ﬁ"f_'f‘?';,} o —Jr‘
Option ID :- 10379,
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Demonstration method HERM 9510

| |

Option ID :- 10380,

Answer Given:- Heurstic method e Option ID : -10378

Question ID:- 2593

In the context of MOOCs in Higher Education in India. which of the following are
CORRECT?

{A) Theyv are learner - centric

(B) They can he delivered only through SWAYAM portal

(C) They can benefit large number of learners

() They can be accessed anytime. anywhere and any number of times.

(E) All MIOOCs are for earning credit

Choose the correct answer from the options given below

qEa § 3= 91 § vH.A1LALH. & Ty § eietEn § 9 s F g8 82
(A)  F foremedi-fsa =0 2
(B) F #ae =99 (SWAYAM) 9126 & H1=49 9§ #] UTH (60 31 9% 7

(C) = Torenfi=i i feme 5 1 e T 9w A

(D) = Tt o ===, forft oft w9 W 9w faadt & s sfanfaa f5g o1 9290 2

(By &4 tH.HLALEL (MOOCs) #ig2 faa =41 & v 24 21

fan o foweT 9 9 w39 = =994 farHu
Options:-

A&DOnly A A#ERD
Option ID :- 10369, '
. C&DOnly  FHACHRD
Option ID :- 10370,

AB&EOny TITA BNE
Option ID :- 10371,

AC&DOnly F99A CHRD
Option ID :- 10372,

AC&DOnly F99A CHED

Answer Given:- , Option ID : -10372

Question ID:- 2596

A systematic review of literature adopts
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Hifeeg &1 geaatean wEe § F=faiaa § 9 fems i e 5 27

Options:-
Explicit procedures TR FHICT
14
Option ID :- 10381,
Implicit procedures  [1EA FETOTTAT
14

Option ID :- 10382,
Personal-choice procedures it —=r sHromferr

Option ID :- 10383,
Peer-suggested procedures THFE -G HHAT feraT

Option ID :- 10384,
Explicit procedures TIE HIAICE

Answer Given:- , Option ID : -10381

Question ID:- 2624

Given below are two statements : One 1s labelled as Assertion A and the other 1= labelled as

Reazon R.
Assertion (4) : Chlorofluorocarbonz (CFCs) are potent greenhouse gases,
Reasonz (R) : CFCs= have the ability to catalyvtically destroy ozone in stratosphere.

In the light of the above statements. choose the most appropriate answer from the options

given below :

419 =1 FA 9u 0 F R wi9wee (Assertion (A)) % #9 H WRgE 7 Al T 39% F77 (Reasons (R))

FETH:

AlTFE (A) TFANTFART FE0 (H.F A ) TE TEEEE T A

=1 (R) ; i uE = 791 § AaEsE 8 {IEH 5 I0RE o J 92 T4 6 4991 76l 7
IWIF FU F AEE 9, 99 50 0 T § o9 I 35 R 994 Fan

Options:-

Both (A) and (R) are correct and (R) 1= the correct explanation of (4)
| |

A 37T R=HT 591 8 3 R, A 1 oF = 2
Option ID :- 10493,

Both {A) and (R) are correct but (R) 18 NOT the correct explanation of (A)

| |
A # R ZFT T8) 2, #ifF R, A o8 =ave T4 2

Option ID :- 10494,
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(A) 1= correct but (R) 1= not correct ATHE S R TS T 2
" 14
Option ID :- 10495,
(A) 1s not correct but (R) is correct ATfAE 72, @A ROeT =

Option ID :- 10496,

. Both (A) and (R) are correct and (R) is the correct explanation of (4)
Answer Given:-

Moo odp A =1 HEl = B i
A ¥ R=F1 991 2 #17 R, A3 =& =ms , Option ID : -10493

Question ID:- 2606

There are three numbers in the ratio of 3:5:7 and the sum of these numbers 1z 975. Find the
three numbers,

AR TS 1 SATIH] SHAM 3:5:7 7 AT 39 Fel AN 075 2| F 7 W S o 8 ¢

Options:-
195. 325. 455
u ’
Option ID :- 10421,
325.195. 455
u ’
Option ID :- 10422,
193, 310 470
u ’
Option ID :- 10423,
205, 315, 455 ,
Option ID :- 10424,
195. 325.

on
e
o
l-_.]l

Answer Given:- , Option ID : -10421

Question ID:- 2609

In a certain coding language. if ‘CRICEET' is coded as 2632479, ROCEET is coded as
612479, and 'KETTLE 1is coded as 479907. then how TLOCKER' shall be coded in that

langauge?

afz et %2 91 5 CRICKET 1 %2 2632479 2, ROCKET &1 %2 612479 2, i ‘KETTLE #
FZ 470007 B, 9 38 ¥ § ‘LOCKER' &1 §2 #1 #1112

Options:-

. 102674

Option ID :- 10433,
021647

Option ID’:- 10434,
120764

Option ID :- 10435,

012476
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Option ID :- 10436,
Answer Given:- 012476 Option ID : -10436

(A)
(B)
(C)
(D)

(A)
(B
(C)
D)

. A . Cand D Only
Option ID :- 10476,

Question ID:- 2619

Which of the following statements are correct regarding VoLTE?

VoLTE stands for "Voice over Long Term Evalution’.
It is a digital packet voice service delivery over IP via an LTE aceess network.
Provides more efficient use of spectrum than traditional voice.

Eliminates the need to have volce on one network and data on anothei network.

Choose the correct answer from the aptions given below :

HNAUHZE F H9Y H HeEngd § 3 w9 H w9 95 8 7

TR T TS ST e Wi e W st i A ate e
Tz R T gel § PI9EH F AT e S9Er TEE T 2|

b e e P e = e e P o e o B e e 3 e b B e 1= e | |

70 70 fa==0 ¥ | 95 39 F =T99 A

Options:-

A B CandDOnly %35 A.B.C#tD
Option ID :- 10473,

B.CandDOnly 99 B C3lD
Option ID :- 10474,

ABand COnly #amA B#rC

14

Option ID :- 10475,

FaA A C#HR D

A Band C Only FaAA. B3R C

Answer Given:- , Option ID : -10475

Question ID:- 2618
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Which of the following statements are correct?
Principal components of a CPU 1n a computer include:

{A) The Solid State Drive (SSD) that stores data perristently. tvpically using flash
Mmemory.

(B) The Arithmetic-Logic Unit (ALLD that performs arithmetic and logic operations.

(C) Processor registers that supply operands to the ALTU and stores the results of ALU
operation.

(D)  The Control Unit (CU) that orchestrates the fetching (from memory). decoding and
execution of instructions.

Choose the correct answer from the options given helow :
et 5 i o it 37
Fget F =i O g & g wueE § = e 7o

(A)  fafore =v 1 Feao Sgfq F1 =W FH AT SR TSI A AMGS 2 5ET (THEE)

(B)  HFOWE 3 75 T FAAE] AFO0AE T U (70 g)
(C) T U ANSH = AR AT TS J T FAROTA FGS FAA T THAT TE

(D) (Tgh =) =W, TR AT T F A F T A v (5

120 70 et § | | 3 H = hie

Options:-

A BandCOnly Fgm A B#HrC
Option ID :- 10469,

B, C and D Only Fa5i B. C s D

Option ID :- 10470,
.B:ﬂldCOnl}' #de B 3K ¢
Option ID :- 10471,

Aand D Only FAE A S D
Option ID :- 10472,
Answer Given:- - BandCOnly Fam A B#mC  Option ID : -10469

Question ID:- 2591

Teacher "A’ uses chalk and board and dictates notes to students in classroom. Teacher B’ uses
Videoconferencing tool and LMS for providing digital resources. Which modes of teaching are
used by teacher A and teacher BY

-

FATTF A’ FAT H AF AN TE (AS) FINFN FA & AN BEN F A A2 forEmm a2

AT ‘B el uoye 39e=9 0= & o difs osien o ve. e um, &7 399 F9 B

HEF ‘A’ S F=F B FSH0E &1 HH H1 U0 9An g 7 7

Options:-
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. Both online iﬁ:r Ek ‘1_'"”??7‘['
Option ID :- 10361,

. Both offline SHI AT TR

Option ID :- 10362,
. Teacher — A: online : Teacher — B : offline AT A HAH €14 ; AFHS B HAE @9
Option ID :- 10363,

Teacher — A: offline ;: Teacher — B : onlinie B AT RITE; ST B I 91

Option ID :- 10364,

Answer Given:- Teacher—A: offfine : Teacher — B : online STEATI “AL AT TR SFEF B A i

, Option ID : -10364

Question ID:- 2604
Given below are two statements |

Statement I :  Communication and secialisation are two non-convergent dimensions of

any modern society,

Statement IT : Commumnication enables the promotion of values that facilitate the

process of enculturization of people 1n a society.

In the light of the above statements. choose the correct answer from the options given below !

= 71 e frw e

FAT 1 TE AN WES Y R ) SgE wE F A - TeEE S 2|
FoF [1: T 39 §eAl & UIHIE 64 § @49 FAA 8, 9 GEIS § SN 9 SR e 1 UG
TIH AT 2

I FUA & ATATF H, A= 20 U fmenl 3 ¥ @ 3T =99 S

Options:-

Both Statement I and Statement II arve true Fue 1 A1 [ =F @79 7
u 14

Option ID :- 10413,

Both Statement I and Statement Il are false F94 1 W [I2F] A5 2

Option ID :- 10414,
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: : 5 o 7 3 5
Statement I 1= true but Statement 11 1= false FA9 1 8ed =, w97 11 5390 &

u ’

Option ID :- 10415,

=
]

: : #9491 S0eg 2, ©iiea &9 11 9cg 2
Statement I 1z falze but Statement II 12 true. i
u 14

Option ID :- 10416,

) Both Statement I and Statement IT are true FYE I AN I F'.'Fﬂ Hrg ::3 .
Answer Given:- , Option ID :

-10413

Question ID:- 2617

Given below are two statements :

Statement 1 : 8 megabytes = 213 gigabytes
Statement II :  The decimal eguivalent of the hinary number (11101.101)2 1= (29.625)1s.

In the light of the above statements. choose the correct answer from the options ziven helow :

EIERAE e R ek g

FeA I: 5 HEEZ = 21 AEETe
wae I0:  Tg=e @ (11101.101), %1 590" G091 (29.625) , 7

e D 7l 10 e e e 20 O 1B ot = e =B ot s L 1 e e L

Options:-
Both Statement I and Statement II are true Fo3 I 5w [I =41 99 7

L ’
Option ID :- 10465,

. Both Statement I and Statement II are false Fo 1 A7 =M 594 =
Option ID :- 10466,

Statement I 1s true but Statement II 1s false

Option ID :- 10467,

o 1905 7, A 9 11 55e 2

o i . ﬁ?[:‘ T ﬂrdi : E‘ -:f,:{ = 3 (= :F"
Statement I 1= false but Statement IT 1= true I+ BT FoA [Tae =

| |

Option ID :- 10468,
. Statement I i= false but Statement I1 is true wI [ A8 7, w0 A A w .

Answer Given:- , Option

ID : -10468

Question ID:- 2623
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Given below are two statements ;

Statement I :  Increasingly. photovoltaic panels are being used to supplement electrical
energy from the power grid.

Statement IT :  One 1zsue with grid-connected photovoltaics is that PV cells produce
Alternating Current (AC) whereas powergrids use Direct Current (DC)

In the light of the above statements, choose the correct answer from the options given helow ;

49 2 FF fen T F

FgA1:  wrE fUs @ T w S A A R Ul 1 I SeAl 91 736 2
Fo I1: s O 9= TR AedE T= % WA OF SN U 2 PR 9 aeEdiaw () T e E

A Y-S yeas g (S0, ) H I e 2

I FAA SR °, A 50 0 [9wew | H HE 3T R =8 Han

Options:-
. Both Statement I and Statement IT are correct Fad L #Ar I o o =
Option ID :- 10489,
. Both Statement I and Statement IT are incorrect FF 1 377 [ =6 T =
Option ID :- 10490,

Statement I is correct but Statement II is incorrect 47 I T7 2, & F49 1L 7oA 2

Option ID :- 10491,

. . ) . T2 1774 7, =T %A (Lo 7
Statement I 1s in correct but Statement I1 1= correct

Option ID :- 10492,

. 3 q : ; FyF [ &l 1 oFl o 2 .
Answer Given:- Both Statement I and Statement IT are correct , Option ID :

-10489

Question ID:- 2612

For which of the following forms of categorical propositions conversion is valid?

(A} Some S1s P

(B) Some Sisnot P
(C) NoSisP

(D) AllSisP

Choose the correct answer from the options given below :
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A =Fu's Paaiz

® F= 8 P A A

) =HEH's PFizad

D) =4 ‘s’ P EE A

fou o famegl § O wE FA W 99 hiE

Options:-

. ABCDOnly Fa=mA B.C.D
Option ID :- 10445,

_ A CandD Only Fam A. C 3 D

Option ID :- 10446, '

. B.CandD Only Fa5 B, C#R D !
Option ID :- 10447,

_ A BandD Only FaA. B3 D i

Option ID :- 10448,

A CandDOnly FFHACHTD

Answer Given:- , Option ID : -10446

Question ID:- 2608

Find the next term 1n the following sertes: 1. 2. 4. 6. 7. 18. 10. 54

o £

frferfiaa gaen § s 92 #1 2: 1,2, 4. 6, 7, 18, 10, 54, 2

Options:-
. 162
I
Option ID :
13
u ’
Option ID :
G4
u 7
Option ID :
72

14
Option ID :- 10432,
Answer Given:- '~ , Option ID : -10432

10429,

10430,

10431,

Question ID:- 2598
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Which of the following are useful tips in preparing guestions for a structured interview?

(A) Introductory gquestions should be related to pleazantries.
(B) Introductory questions should be related to the research topic.
(C) Questions can be grouped. if the list of questions is long.

(D) General guestions should precede specific gquestions.

(E) Repeat the perscnal questions again and again to test the truthfulness of the reponses
of the Interviewee.

Choose the correct answer from the options given helow ;

< G L

HEfa TR R o o0 uve oaR o ¥ HEieiEgg 4 9 siE o 39 Heh 8 v

(A) 4% UvH HAEL SN E= B4 =F10E0)
(B)  ART9 wod Iy Ta9E ° FEian 2F =)

(C)  Ff% wva g=1 @ B 0 ueA w1 GgEeg A o1 @ 2

(D) == v e weE § @ e A

(E) TR oF 70T o 3 %] @75 ol W@ 9 [0, SA0a 99AT 1 S—-a1 5Es0)
fau U fawem § § TE I F T A

Options:-

_AB.CcOnly F9TAB,C
Option ID :- 10389,

_ A C.DOnly FFA A, C, D
Option ID :- 10390,

Faa B, C. D

14

_ B.C.D Only i
Option ID :- 10391,
A.D. E Only eelA 1, B

Option ID :- 10392,

A C.DOnly #HaAA.C.D

Answer Given:- , Option ID : -10390

Question ID:- 2592

Which of the following tools can be used for ICT enahbled teaching?

w13 91.87. Tafia w=E « fou Sefaias § @ 959 9@ 3950 =1 g3 fEm o s 27

Options:-
. Paper charts FOTS F T2 (ﬂk J1/ET )
Option ID :- 10365,
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. Physical models ifee ufey (ATZe)
Option ID :- 10366,

Projector EI?:TFT:]' UT’W)
Option ID :- 10367, ’
, Black Board ATz
Option ID :- 10368,

Projector B BIEELS)

Answer Given:- , Option ID : -10367

Question ID:- 2594
Which of the following 1= considered as the highest scale in measurement?

~ i~ T

g &1 T § Fetafiaa § 3 o g9 #1399 5199 9] S 27

Options:-
Nominal  ATHE

u 14

Option ID :- 10373,
Ordinal FH=I%

Option ID :- 10374,

. Interval AT

14

Option ID :- 10375,
Ratio AT

et

4

Option ID :- 10376,

Ratio A

Answer Given:- = , Option ID : -10376

Question ID:- 2615

Given below are two statements :

Statement I 1 Anrstotellan svllogism is eszentially verbalistic.
Statement IT :  Nwvava system recognizes the fact that the verhal form 1s the essence of
inference,

In the light of the above statements. choose the most appropriate answer from the options

ziven below :
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g FEEr .

FoFd [ A AEEEE aoE; e =9 2

Fud IL: =09 Ugid 39 929 %1 9=4] T5H HEl 7 T Oiesd =9 HG6E g6
T FYA T A §, 2= (90 T el § A HeE 39 30 R =9 I

Options:-

, i oo
Both Statement I and Statement I1 are correct e I Aw H=F &7 2

Option ID :- 10457,

Both Statement [ and Statement I are incorrect w2 [ 317 IL 541 7= &

n
Option ID :- 10458,
Btatement I 1z correct but Statement IT 1s incorrect TR ITE 2 AFa T I 2

Option ID :- 10459,

5 Y A [l _'_'2.
Statement I 1s incorrect but Statement II 1= correct FA L7 7, S w4 8w =
L ’
Option ID :- 10460,
5 % R Fg= 1 ¥R =M =34 7
Answer Given:- Both Statement I and Statement I1 are correct , Option ID :

-10457

Question ID:- 2613

Depending on the intention which of the following logical informal fallacies may be 1nvolived
in the following argument — T am shocked to hear you preaching atheism. Does vour father
know vou believe that?”

{A) Appeal to authority

(B) Appeal to emotion

{0y Appeal to majority

(D) Appeal to force

Choose the correct answer from the options given below :

EE (e e e 45110 G = 1 o == e o =B | 2 2 ol o e i e M o R = 1 =1 o = 1

AF TR a9 G 8 e E| T S 99T 9 G 2 T 99 378 O AT

(A)  TTER AR
{B) e A=
(C) =FEd AWE

(D) oA ATGE

20 T EEAT B | A 39 9 = A
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Options:-

. A and D Only Faa AFATD
Option ID :- 10449,

. AandBOnly FAWAANB
Option ID :- 10450,

. BandDOnly F@B3WD
Option ID :- 10451,

BERRCOEy RO

Option ID :- 10452,

Answer Given;- 2andBOnly  FFTASNE  gotion ID : -10450

Question ID:- 2626

In India. much of the Central Government expenditure on general higher education 1s routed
through

Y O W T AT B S e TR 55y TR 1S H AT R Y

Options:-
Natural Council of Teacher Education. L "fi’q ST e A

Option ID :- 10501,

All India Couneil for Technical education ANFe A FEAT Ty e
I
Option ID :- 10502,
University Grants Commizsion [T FATE S
| |

14

Option ID :- 10503,
National Council for Educational Research and Training,  T2F T4 HTH-H T8 TE740 7007

[ ] 4
Option ID :- 10504,

. National Council for Educational Research and Training, T2 J&0R ¥FH-9H U5 T4 7005
Answer Given:-

, Option ID : -10504

Question ID:- 2629

Broad parameters adopted by National Institutional Ranking Framework (NIRF) are

{A) Teaching. learning and Resources
(B) Graduation outcomes

(C) Outreach and Inclusivity

(D) Peer perception

(E) Low Carbon footprint

Choose the most appropriate answer from the options given below :
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THE TR YoiEg = (NIRF) R A 0 = TS § A v

(A)  FeEEd, At s g

(B) =% = E iR

(Q)  wEW R gEE

(D)  ==Hal F1 =

(B) 9= =@F w=Es

oo T =] § § 9E 3 W 99 Fia

Options:-

L,ABCDOny =F=dAB.CD
Option ID :- 10513,

. ABDEOny ¥ @ABDE
Option ID :- 10514,

_ B.C.D.EOnly #ad B.C.D.E
Option ID :- 10515,

FaA A, C. D E
_ A.C.D EOnly

Option ID :- 10516,
Answer Given:- <+ B C.DOnly  ZF@@ A B.C.D |, Option ID : -10513

Question ID:- 2621

Given below are two statements :
Statement I . All potential pollutants are synthetic chemicals.

Statement IT : Many of the emerging contaminants have been observed to

bioaccumulate in wildlife and humans.

In the light of the above statements, choose the correct answer from the options given below :

= 71 %o o om F

FoA 1: =l welea veE S wEE A A

FoA I1: A0 39 TS0 § F = F1 FA00E AT TS 5 AG-H=E0 w5 5 2= = A

TR FE F AT °, A 50 T e 8§ ' 3 9 98 F00
Options:-

Both Statement I and Statement II are true #2 I A o 99 2
u ’
Option ID :- 10481,

Both Statement I and Statement II are false oM I 37 IL =M 59 ‘;’

14

Option ID :- 10482,

Statement I is true but Statement ITis false  F94 1 74 7. =0d 524 11 37074 7
L I4

Option ID :- 10483,
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Statement I iz falze but Statement IT iz true F4F [ 997 &, A 509 o 2
L 14

Option ID :- 10484,

. Statement T is true but Statement ITis false 797 1T 2, =154 F94 11 993 2 .
Answer Given:- , Option

ID : -10483

Question ID:- 2630

Which University in India was first to throw all University examinations open to girls?

A % g H H e EvEEEeE 4 Use] 90 Sl F 100 [mraraaeg s A9 e any 6
e

Options:-
Punjab University g frafaa=m

u 14

Option ID :- 10517,
Calcutta University o7l GREIERIER!
Option ID :- 10518,
Savitribal Phule University G E IR ’fl:_:‘ Tarataa==

4

Option ID :- 10519,
Bombay Umveraity

Option ID :- 10520,
Savitribal Phule University AEEETE B Tavataeme , Option ID : -10519

Answer Given:-

Question ID:- 2603

When it comes fo knowledge-sharing. the important aspects of communication are :
(A) The supply side

(B) The demand side

(C) The policy currents

(D) The push and pull of policy makers

(E) The choice of filters

Choose the correct answer from the options given below :
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W AW = A S R A aE & Syl 9a A

(A) =g 9E

(B) HFT 95

(C) Hifa wam=

(D)  Hifa HEmE #1968 @1 ==
(E)y  Theer-fame

fru o Feredl 8 @ 9E I o =979 hifFu

Options:-
. AB.COnly F9ABC ,
Option ID :- 10409,
B.C.DOnly 3@ B,C,D
Option ID :- 10410,
C.D. E Only F9d C.D. E
Option ID :- 10411,

. AD.EOnly T A, D. E

Option ID :- 10412,

Answer Given:- 4. B.COnly FAT A, B, C , Option ID : -10409

Question ID:- 2597

A major focus In quantitative research is on

™ -

QT W19 H U B HEfeign § 4 few o a2 7

Options:-
. Historicity -“- TET
Option ID :- 10385,

Cauzality R

Option ID :- 10386,
Social reflections HHATSE 3 !.fé‘ k|

14

Option ID :- 10387,
Creating an artificial environment a.—_'ﬁl STATELT el THAT A

Option ID :- 10388,

™ ™,
Historicity MR

Answer Given:- , Option ID : -10385

Question ID:- 2614
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Given below are two statements :

Statement I :  In svartha Anumana (inference for oneself) we do not require a formal
statement of the different members of inference. according to Nvava

view of inference.
Statement IT :  Svartha Anumana is a psychological process.

In the light of the above statements. choose the correct answer from the options ziven below :

o 1 FAAFA F S WA R AT T A 5 FH SEAE F 199 SN A" e F

T
AEFTHal a1 =il =1

Fo I1: = SFEE T T 2

T FYA F A 4, {9 7w e O 3 weE I I 6 9A Fian

Options:-

Both Statement I and Statement II are correct Fo 1380 1L o &7l 2
| |
Option ID :- 10453,

Both Statement I and Statement II are incorrect FoF 1 377 I =F1 T

Option ID :- 10454,

Statement T is correct but Statement I1 is incorrect F2F LT/ 2, &% ®¢q L 7o =

u V4
Option ID :- 10455,

Statement I is incorreet but Statement IT 1s correct Foq [T B, @A 799 [LHA 7
u 14

Option ID :- 10456,

. Both Statement I and Statement [T are correet #4414 [ 5H1 98l & .
Answer Given:- , Option ID :

-10453

Question ID:- 2622

Typhoid fever. a water born disease 1s caused by

AT (ZEFES) OF T —AHd 17 2 A W= | 95 7 2 -

Options:-
. Virus T (=)
Option ID :- 10485,

-

Bacteria AT

14
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Option ID :- 10486,
Protozoan 5 (TEME1SH) i
Option ID :- 10487,
. Helminth ‘ﬁrﬂ:l

14
Option ID :- 10488,
Answer Given:- bacteria &1 Option ID : -10486

Question ID:- 2616

Mss Reena has been appointed by the Cyvber Security Cell of Mumbai to break into the
website of a terrorist organization to extract information. What among the following 1s a
suitable description of Reena's profile?

TaE F ATEA W] TG 7 UF AAFAG T FAd geA e & A s aemeg § 9eie 7Y wEe
1 1 Tfe i 2| T 1 TeEs a8 ® R A T I a9 27

Options:-

, Hactivist ElEziCe

Option ID :- 10461,
Ethical Hacker IAF B

4

Option ID :- 10462,
Troller Zie

4

14
Option ID :- 10463,
. Black hat hacker TF 22 B
Option ID :- 10464,

Ethical Hacker EinER e

Answer Given:- , Option ID : -10462

Question ID:- 2628

Given below are two statements :

Statement I . In India increasing access to higher education has heen constrained by
low completion rates at secondary education stage.
Statement II : By 2030, all multidisciplinary higher education institutions will be

clozed down.

In the light of the above statements, choose the correct answer from the options given below :
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dETFE G

FoA 1: ARG § I9 W 9% TES ¥ SerTl WeAEE e F W W G e a0 F wE ana
e -

Fo I1: T 2030 7% T SEEes 5 o0 e we A R S

Options:-
. Both Statement I and Statement II are true Fo [ #m I 2F 77 2
Option ID :- 10509,

Both Statement [ and Statement IT are false Fo= I3 I o 3 &

Option ID :- 10510,

: ., : - —7 & =g = p
Statement I is true but Statement I is false F L aed 7, e o+ 11 saed 2

.
Option ID :- 10511,
. Statement I is false but Statement IT is true  #97 1 3780 2, & %A 1177 2
Option ID :- 10512,

Statement I is true but Statement IT is false w5 1A 7, i w2 11 e

Answer Given:- , Option
ID: -10511

=&
=

Question ID:- 2607

The simple interest accrued on a sum of certain principal i=s Bs. 1200 in 4 vears at the rate of
8% per annum. What would be the simple interest acerued on thrice of that principle at the
rate of 6% per annum in 3 vears?

8% 1 AT & F 4 WA 7 G gOUE W 1200 T @GR S0 89§ $RE 500 39 gOeE & fo
AT T 6% T ANGEF A 3 T H (AT WTEE ST T B

Options:-
. 2150
Option ID :- 10425,
2060
4
Option ID :- 10426,
2025
4
Option ID :- 10427,
2100
u 14
Option ID :- 10428,
Answer Given:- 2150 | Option ID : -10425

Question ID:- 2599
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Which of the following are types of ervor In survey research?

{A) Sample error

(B) Source error

(C) Obszervational error
(D) Data collection error
(E) Data processing error

Choose the correct answer from the opticns given below :

frfefam 5 o %9 = afem 5957 mg | a8 7

(A)  wftee 372
(B) =m IR

(€ wEET At
(D) =@ R e

(E) =/ 9#FA7 I
o o faei 9§ 9 T I F =9 FifAu

Options:-
_A.B.COnly Fa9 A. B. C
Option ID :- 10393,
B. C.D Only F3 B, C. D
Option ID :- 10394,
_ B.D.EOnly Fae B, D, E
Option ID :- 10395,
AD.EOnly HF99A D E
Option ID :- 10396,

14

Answer Given:- & D-EOnly  FITAD.E  govion 1D : -10396

Question ID:- 2602

In which context. the true effects of mass media communication on mass audience can be
under stood?

~ e o

fefalign § 9 09 5 9/ Jifsa & 98 o A9 91a] o9 99 91 8l THE F g6 F a9l 8 7

Options:-
. Economic AT
Option ID :- 10405,

14
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Social THETTAF
Option ID :- 10406,

e 15

Political

Option ID :- 10407,
Spiritual HTEATIoHS

Option ID :- 10408,
Answer Given:- Socal SlEUEES , Option ID : -10406

Question ID:- 2605

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Heason R.
Aszertion (4):  Commumnication has the power to persuade, inform and disinform.
Reasons (R) : The process of propaganda makes the line of distinction transparent

hetween its elements for being persuasive.

In the light of the above statements, choose the correct answer from the options given

below:

e L e T ¥ TF AFIT (Assertion (A)) ¥ w9 { fonga 2 o AL 3HF F0 (Reasons (R))

= " N, N by, [ i U N ~. o
HIHFET (A) - FEIIUT H E9AE 3099 Fi4, G Fd F1 Tad =1 54 =1 5 = 7
=1 (R) : Atay=Em (wmren) Fi ufEn favwe i dm-rm = 3w Avawees 9l & A=

qRE =] 2

TR U & ATATE |, A 70 70 e § " wE 39 & 99e s

Options:-

Both A and R are true and R is the correct explanation of A
| |

(A) & (R) 591 &e3 & 3 (R), (A) F1 T8 =we &

Option ID :- 10417,
Both A and R are true but R 1s NOT the correct explanation of A

(A) 1 (R) A1 @ 2, A4 (R), (A) FI @& ==y 741 2
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Option ID :- 10418,
A iz true but R 1= false (A) 77 2, SlEs (R) <4974 2

Option ID :- 10419,
A 1s false but R 1s true (A) 3G 2, offs (R) d79 &
Option ID :- 10420,

. Both A and R are true and R is the correct explanation of A
Answer Given:-

(A) S (R) 7/ 8¢ 2 i1 (R), (A) 9 =81 == 2 )
, Option ID : -10417

Question ID:- 2600

Given below are two statements :

Statement I :  Often qualitative studies provide too many details of the setting that are
mnvestigated.

Statement I1 :  Critics point out that gualitative research suffers from the issue of
replication.

In the light of the above statements. choose the correct answer from the options given below ;

o fow o 2 .

i
Ea
|

FY9 1 : UTTeHE: ST SRAT S (60 S 98 Wiaaw & wgn Siae (e EE F 2

FEI1:  SAEES A 3m e 2 5 s wy T i o § ae

IF FAF & ACE H, 49 =0 70 e 7§ 98 39 &7 999 #ie
Options:-
o = T e S
Both Statement I and Statement IT are true Fg9 ISR 1T Sl &0 &
L I4

Option ID :- 10397,

Both Statement I and Statement II are falzse FA I #E IO AR
L 14

Option ID :- 10398,

Statement I is true but Statement I 1= false F99 1 979 2, o9 %99 [ 99 2

Option ID :- 10399,

Fue 1 979 2, oied %99 [1 979 2
Statement I is false but Statement IT is true
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Option ID :- 10400,

Statement I is true but Statement II 1= false
Answer Given:-

F99 1 077 2, =% #99 1L 579 7
, Option ID : -10399

Question ID:- 2611

If 'some men are vegetariang’ 1z given as false. which of the following can be inferred to be
true from 1t?

(A) All men are vegetarians,
(B) No men are vegetarians.
(C) Some men are not vegetarians,

(D) All non-vegetarians are men.

Choose the correct answer from the options given below :

oz “F5 T AEEA E ea =0 6 A T A Fetated § § B o s e S o 27
(A) =T w= I E

(B) I i 57 RN A5 2

(C) 3 T4 TFEEE TH 2|

D) T W-IEEE T R

o0 T feEeTl BT A 39 H g

Options:-
_A.Band C Only Fae A B3t ©
Option ID :- 10441,
_ B.Cand D Only #as B, C #it D
Option ID :- 10442,

B and C Only FaA B #77 C
Option ID :- 10443,
_ CoOnly F C
Option ID :- 10444;,

A BandCOnly a9 A B C

Answer Given:- , Option ID : -10441

Question ID:- 2625
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Global warming can lead tolageravate which of the following natural disasters?

{A) Draught

(B) Earthquake
(C) Flood

(D) Storm

Choose the correct answer from the options eiven below :

FeTEa 1 3 FE | W A9E), YEseE 71 3G qE ° 30 6t e w1 a2

Ay  Fm
(B) 9F™
(¢ =m;

oy TFH

o0 70 TaeTl § H A I 6 94 A

Options:-
. A B. C Only FTaTF A B.C
Option ID :- 10497,
. A C.D Only FAAA.C.D
Option ID :- 10498,
B.C.DOnly #99B.C.D
Option ID :- 10499,
BE. D Only %4+ B, D i
Option ID :- 10500,
Answer Given:- B:DOnly ¥ B.D go4ion 1D : -10500

14

Question ID:- 2610

On allowing two successive dizcounts of 20% and 15%. the selling price of an article becomes
Rs. 3060. What 1s the marked price of the article?

forelt 75a F Tos 909 W 20% 77 15% 1 51 IR 2 54 W IEH (9T g9 % 3060 7 F1 7| 34
TEq F1 @AfEa qea 1 27

Options:-

. 4000

Option ID :- 10437,
4100 ,

Option ID :- 10438,

. 4200

Option ID :- 10439,
4500

14
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Option ID :- 10440,
Answer Given:- #4200  oOption ID : -10439

Subject : GP_29SEPT22_SH2_S1_C

Question ID:- 2633

Read the following passage and answer gquestions from gquestions 46 to 30

The concepticns and treatment of poverty were guite different before 1940. In colonial times
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the hasis for economic progress was seen as nil. However. within
Asian, Afiriean and Latin or Native American societles. vernacular socleties had developed
wayvs of defining and treating poverty that accommodated visions of community. frugalhity.
and sufficiency. It 1s true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. Az a result. it deprived millions of
people from access to land. water and other respurces. With the consolidation of market
economy. systemic issues hecame inevitable.

It 1= mmportant to know the break that occurred in the conceptions and management of
poverty first with the emergence of capitalism in Europe. and later with the advent of
development in the Third world. The first break is deseribed in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occupied an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernisation
of poverty invariably affected vernacular relations.

FerletiEs T qied i 5 ' 46-50 % 39 A

T 1940 F TE A FEEe aWome HR SEeA w5n A T R 4| SRaees e 5 F{eaE o
T 6 fAvam # wAEs A T a1 st v f geeaE wATs e T - ae
T, S YA AR H ST RS TRl (RAT W HEAT UET SET AT T IR ANAE e
e | A Wie W A S ST % e § e e i AuaT w9 HE] S |
BT T, FETR AR ATAAT 1 e S G # A oS GETe 4 [Een 5 gy S
At 0 F v =0 fowE F7 fon ¥ 50 oy e et o 39eE aed s gt
4| 7= 7 2 5 aafas w92 § sfafamme [T Fa9 79 399 99 90 - Fiea 9H=Ee 5 2EEE 5
foa-Tag =0 =) TREe: TE OFE G0 W OqE, F9 66 5 g § 90 O e
=T F HIEE  A1Y SEE T Ao W SO A | A Ao aeneT s e
1 70 fa=a 1 T Se 2, TEen 9=an A T T U F I Wg el 6 Il dean A
et gfen A o F SR % e g T fa=as A el sl 3 e F e e § e
T TS F 354 A R A B W aated TR 5U TR Sh S STl SEEdT T avaiE o 55
TFE B ATHGER F UF FeeAq0] T4 2| el F S W A 6 SR O TR 9 5
1| A F AT | AT EY W S w9

The market economy was responsible for

Options:-
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Increased access to resources FATHA T H0F 7H

Option ID :- 10529,

Massive poverty AT Fa
Option ID :- 10530,

Enlightened development B T

b ’

Option ID :- 10531,
. Idealisation of tradition RO T ARSI
Option ID :- 10532,

Answer Given:- Massive poverty st Fref , Option ID : -10530

Question ID:- 2632

Read the following passage and answer questions from questions 46 to 20

The conceptions and treatment of poverty were quite different before 1940. In colonial times
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlichtened by the presence of the coloniser. not much could be done about their
poverty, It was because their economic development was pointless, The natives capacity for
sclience and technologv. the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societles. vernacular socletles had developed
ways of defining and treating poverty that accommodated visions of community. frugahty.
and sufficiency. It iz true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the commumnities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic issues hecame inevitable.

It 1= 1mportant to know the break that occurred in the conceptions and management of
poverty first with the emergence of capitalism in Europe. and later with the advent of
development in the Third world. The first break 1s deseribed in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy occupled an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernisation
of poverty invariably affected vernacular relations,
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FeTletas T 9ied 1 99 5 4650 F 39 A

T 1940 H TR U1 WS GU S fEEEE gm0 YRR F 2| SOEand e O Feaa & i
T §9 EvaE A UeiEe A T SEeEE S ae # geeaeE i ArST o -G
U, I (AAA AR " SIS B TR AT ST WAl UHT SHIAT AT I S HNAE TR e
Eee e e e e i 1 e e e o L e e e e B e e e e
AT TS, ShTR SR AR 91 GeEaTE] S G # e 5 BETe A e 5 g 5
¥l 7= 79 2 T amafE 9l § e Fdaa e 79 39 99 aeE - wen wsEs 3 aEE
fosr-Tag =t =i aREA: E FAST R0 W Y, Fe HE A GEeAl § dfhd w1991 ST

Wﬁvmi—m%g;_r{i—umiﬁma ST 79 OS] OEE SEE 2 TE | AT S g a7 gaee
4 0 fa=as F T 5ee 7, TR Heen 7 T F IAER F 35 F A 5 S0 Iwant w@ean o
et S | T A W 5 9ee [0 1 ave SEmEl Tl § HEEl 5 @ siaen § e
= ATl F 359 H TRA S B H Fagihh TEIE GET TR Shi S 91 HEEaT 9 AnRaEE 9 25
TFA T AR F OF Ty T9E 2| [ F T W S T ST 6 O TR 9 ==
1| A F AR T R =0 1 59 Tt ) I9iEd

The Vernacular societies encountered economic poverty with

ZITF WA A SANAF a1 9 R 5 g e

Options:-

Science and technology EmIERe e e
- ’
Option ID :- 10525,

External aid T AEE

Option ID :- 10526,
Modern ideas mg'm—_r Ereirs
Option ID :- 10527,
Usze of resources sparingly HHEY ﬁqﬂm Bl
Option ID :- 10528,
Answer Given:- Modernideas  agirr FEw , Option ID : -10527

4

Question ID:- 2634
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Read the following passage and answer questions from questions 46 to 50

The concepticns and treatment of poverty were quite different before 1940. In colonial times
the concern with poverty was conditioned by the belief that even if the nativez could be
somewhat enlichtened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the hasis for economic progress was seen as nil. However. within
Asian, Afirican and Latin or Native American socletles. vernacular socleties had developed
wayvs of defining and treating poverty that accommodated visions of community. frugahty,
and sufficiency. It 1z true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, A= a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of marlket
economy. systemic 1ssues hecame inevitable.

It 1= 1mportant to know the break that occurred in the conceptions and management of
poverty first with the emergence of capitalism in Europe. and later with the advent of
development in the Third world. The first break is deseribed in terms of the advent in the
nineteenth century of syvstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy cccupled an important place in thiz transtion. The
transformation of the poor into the assisted had a profound consequence. The modernization
of poverty invariably affected vernacular relations.

Ferfetfas e afed i w9 W 46-50 F 3 At

T 1940 T Wret FdAW Tl anon S e S5a e TER F °| S w0 FEaE F
T §9 EvaE A UeiEe A T SEeEE S ae # geeaeE i ArST o -G
T, IR AUAA G uR W ST RS TR TRl W1 SRl UET SET A1 P ST ANAE R e
(Eee e e e e e i = 1 e e e o L e e e e B e B e e
AT TS, ShTR SR AR 91 GeEaTE] S G # e 5 BETe A e 5 g 5
9| 7= T9 2 T amafaE 991 § AfamEeme [Faaa Fae a9 39 99 99 - Fon a3 ggaE w=
fomr-Tag =t =i aREA: E FAST @R0 W Y, Fe HE A GEeAl § dfhd w1991 ST
HUASTEEAT F FETE T HIY SR T W] HEE. S 7 | el aeedl gl S5 e

4 0 fa=as F T 5ee 7, TR Heen 7 T F IAER F 35 F A 5 S0 Iwant w@ean o
T g | T F A F AW g YEe [Hegs W AvE Sl T 8 WO § W S1EEn 6 e
3 LAl F 394 H TRA AW E F Aghh TEE GET YR S S 36 HEEET 9 AREE 9 55
THFE T ATRITER FTF FEe T 2| FE % W W A T S O R O e
1| AT F AIEEET T AR FY 0 59 e 5 T9E 154

Capitalistic development introduced the 1dea of

Options:-
Modernised poverty  IMEFHIET e
n
Option ID :- 10533,
Impersonal institutions At e

Option ID :- 10534,
Third world T g

14

14
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Option ID :- 10535,

Vernacular relations R o)
. 14
Option ID :- 10536,
Answer Given;- ©croacular relation , Option ID : -10536

Question ID:- 2635

Read the following passage and answer questlons from questions 46 to 30

The conceptions and treatment of poverty were guite different before 1940. In colonial times
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societies had developed
wavs of defining and treating poverty that accommodated visions of community. frugality.
and sufficiency. It 1z true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. Az a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy. systemic 1ssues became inevitable.

It i= mmportant to know the break that occurred in the conceptions and management of
poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is deseribed in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy occupied an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernization
of poverty mmvariably affected vernacular relations.

FeTlEEa T 9ied S 9 W 46-50 % 39 2|

TH 1940 T TEA oA FEEe auem 3R {99 w5 A T R ) SHaeeE e 5 {eaE F
HEATA] $H favamE # wAiEs A seiEaeE 1 weitat ve # geEaieEl w0 uTs wed T -0 e
U, I [UAA F AN B OSAIE B TR (AT S SRl UET SHIT AT I S ANAE e e
e o) s wite % I A S TR o A § geatE F EEa w9 5= A6
fatas 0 % v =0 fowiEs F= o g T8 ogem s faasataa o 39eE ol siewm gt
9| 7 7= 2 T aafaE g1 § wiaEene A e a6 39 o9 9 - won SsaEe 3 5EEE w®
f@a-Tae =7 =i 9RwEA: TEE FAS] RN W Y, FE SF A GEEEl § dfad w0 [eEr| g

AT F G T OEY SR O W] A S 71 T | A gl quonsl 5 e

1 70 fa=ae F 9 Gead 2, TR H=en 7 T T YA F 35 & WE 5 0 S Sl deas o
= A § 9 % ATEA A A 9Ed 99t T OV SHiEEl el § WYl 5 A3 SR F e
T AR T A A TR A 2 eAreE SR 5 USE A A a9l SEEeT o o) 5=

TFEY H ACRIGER U AUl FF 2| FEEl % Al OTH S § S R R O w6
o1 | FEA AT | e EY T I weei R aeiE

The passage focuses on

T ] FR -t 2
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Options:-
. The merits of market economy ST AU=Ta4] + ™
I
Option ID :- 10537,
The need for philanthropy to reduce poverty e 7wl % v AR A SEea

Option ID :- 10538,
The ill-effects of capitalism PEICIe T ]

Option ID :- 10539,
. The 1ssue of redefining poverty in the Third World.

Option ID :- 10540,
The need for philanthropy to reduce poverty e § T T AT AT

Answer Given:- ’
Option ID : -10538

T SHA T AT A F 6 e

Question ID:- 2631

Read the following passage and answer questlons from questions 46 to 30

The conceptions and treatment of poverty were quite different before 1940. In colonial fimes
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality.
and sufficiency. It iz true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. Az a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic issuesz became inevitable.

It i= mmpoertant to know the break that occurred in the conceptions and management of
poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is deseribed in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy occupied an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence, The modernisation
of poverty invariably affected vernacular relations,
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=Tl e 9ies o W9 =W 4650 F S )

T 1940 H Tre frdear s anent s T ann s YRR F 4| sueare Fe 8 A F i
FEIE 39 favam | waiEe 6 B selEee i safeals ae f geleeteE = drer s e -aee 5

U, I (AAA AR " SIS B TR AT ST WAl UHT SHIAT AT I S HNAE TR e
Eee e e e e i 1 e e e o L e e e e B e e e e
AT TS, ShTR SR AR 91 GeEaTE] S G # e 5 BETe A e 5 g 5
7| W= TE 2 TR AT A9 W A (A Fae 99 31 6 99 - Hieon $UsaE 5 qasEl
fosr-Tag =t =i aREA: E FAST R0 W Y, Fe HE A GEeAl § dfhd w1991 ST

aﬁurv4d<-a|;iﬁej;_r§1—w.U|%ﬂTEI ST 79 OS] OEE SEE 2 TE | AT S g a7 gaee
4 0 fa=as F T 5ee 7, TR Heen 7 T F IAER F 35 F A 5 S0 Iwant w@ean o
et g § 9w = SE A 23 9ad Ta=at T avE SdiEdl Taesl 8 HYE S A3 =EER § e
= ATl F 359 H TRA S B H Fagihh TEIE GET TR Shi S 91 HEEaT 9 AnRaEE 9 25
TFA T AR F OF Ty T9E 2| [ F T W S T ST 6 O TR 9 ==
1| A F STIEEE § FEE E O 59 o F e

Before 1940. colonisers believed that poor countries
T 1940 T T5E IUFETETEA 0 Evam a1 B e 25w

Options:-
. Can he changed et e e o ey ,
Option ID :- 10521, _
Can be totally enligchtened IO TR S A A 2
Option ID :- 10522,
Cannot be changed TE S A EEA
Option ID :- 10523,
. Do not need their prezence ST i 39aTA 1 FETTw A= v
Option ID :- 10524,

Answer Given:- Cannot be changed T A T EFA R Option ID : -10523

Subject : 8_11_SH1_PARTA_S1

Question ID:- 2417
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Pricing of housing loan by a commercial bank may follow the following steps 1n a logieal

sequence:;

(A)  Competitive price determination
(B)  Specification of spread

()  Application of MCLR

() Conduet of Credit Assessment

(E)  Quoting to prospective horrower

Choose the correct answer from the options given helow :
(A)  wlEgteTE FEa FEE

(B)  #wr T feleIA

(C) g v AW I

(D) oOmF (F=2) AFe F1 TFE

LI r 3
(E) g FaAgl &l 355

fou m gt § ® T T T =9 i
Options:-
(C), (B), (A), (D). (E)
. r

Option ID :- 9665,
(A). (B). (D). (C) (E)

Option ID :- 9666,
(B). (A). (D). (E). (C)

14

Option ID :- 9667,
(D). (). (B). (A). (E)

Option ID :- 9668,
(D). (C). (B). (A). (E)

14

4

Answer Given:- , Option ID : -9668

Question ID:- 2373

Presumptive taxation involves which one of the following?
T (M) Fhew § S 8 i T v o a2 e

Options:-
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The use of indirect methods to calculate tax hahility. which differ from the usual sales
based on the tax payers accounts.

7 f9=1 77

Option ID :- 9489,

Transfer of tax liability from State to the Centre. &7 =571 &1 7799 H %3 ] 97 =757 |
| |
Option ID :- 9490,

Calculation of short term capital gain =79 STETd Ti =19 = 7007 | ]
Option ID :- 9491,

Calculation of rebate U/S 89. 97T 89 & =19 %2 =1 70T |

I

Option ID :- 9492,

The use of indirect methods to calculate tax lability. which differ from the usual sales
Answer Given:- hazed on the tax payers accounts.

H 154 7l , Option ID : -9489

Question ID:- 2415

Sequentially arrange the following themes related to elobalization of Indian businesses since
independence:

(A) FDI in various sectors opened along with slashing of custom duties.

(Bl  Partial opening of economy to external trade and de-licensing of some key sectors.

(C)  Govt. —led investments in large public sector units in steel. chemicals and power.

(D) Indian businesses became competitive and started to reap rewards of various phases of

development learning.

(E}  Inecreased government involvement in industry with sustained focus on 1mport

substitution.
Choose the correct answer from the options given below ;
TEAAE Uy AIATS ST S F YA § A (AeieiEd @ B A EEEn e

(&)  HE-9EE | HEAT G- SAE A9 § UF S TS i S 61 |

(B) = =N % {0 AYSEE H HECH B9 ® Fie AR FS SRy G391 § wiEaE i ahEEm

ECAGTE

(C)  =PIW, THEA A1 1 43 5 @9 SEAEE A9 TFEd] O WEE F A9 1 [ |

(D)  HFAE =I9E TAEIE] 2F1 SF [5ERE 5T A =0 e 9T AT

(E) =79 Siaeamd W H2A9 SAF a1 50 390§ Ataias SEEl 338 g5t |

fou T el | I wE I H =95 I
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Options:-
(C). (E), (B). (D). (A)

Option ID :- 9657,
(E). (C). (B). (A). (D)
4

Option ID :- 9658,
(C). (E) (B). (A), (D)

[ ] 14
Option ID :- 9659,
(A) (C), (E). (B). (D)
14

Option ID :- 9660,
(C). (E), (B). (D}, (A)

4

Answer Given:- , Option ID : -9657

Question ID:- 2364

Which one of the following 1s a myth about rural markets?
TeEa B O FH = O "EE # S § WE (0

Options:-
All villages are not equally populated. T TS ooA =1 3 99 75 ¢ |
- ’
Option ID :- 9453,
" [ {= [l X
Rural buyers are a heterogenous lot,  JHTY IEER U 1HAGE 97 = |

Option ID :- 9454,

Rural buyers are able to discriminate between products and brands.

4

T W EER IR 917 #1510 % 99 [99% F § 949 3 |
Option ID :- 9455, '

. Only low priced products =ell in rural markets. T AT # FEE A Hed T I A A A
Option ID :- 9456,

Only low priced products =sell in rural markets, OTHTO ATAT | FE e A qe =T 31E S A H
4

4

Answer Given:-
Option ID : -9456

Question ID:- 2345

The pricing practice to extract all of the consumer surplus from consumers to maximize the
total revenue and profits from the sale of a particular quantity of produet 1s called ;

30 F1 o T 5E F R "R W S o9 R ANSEen W B IT9ERIs 3 Fe STHEE
AT 1 WH HE F o Ged HETEE FE wEel 7

Options:-

. First-degree price diserimination  99H oot e e
Option ID :- 9377,

. Second-degree price diserimination  {Za7g 407 Figg @Y=
Option ID :- 9378,

Third-degree price discrimination  Frm Ui Had EIEEHD
- 14

14

4
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Option ID :- 9379,
Penetration pricing U129 TEMET

Option ID :- 9380,

Penetration pricing

4

Answer Given:- T T option ID : -9380

Question ID:- 2390

As per the Agency Theory of Corporate Governance. which of the following statements are

relevant?

(A}  Governance approach 1s materialistic,

(B)  Alanagers are motivated by the principal’s ohjectives.
(&) Interests of the managers and principals converge.
(D) Behaviour pattern is opportunistie,

(E) Owner's attitude 1s to avold risks.

Chooze the most appropriate answer from the options given below :

T wfgem % sty (v fegr & waEE FeeEn w0 e g E

(A)  ATGuTEE U SitaEae! 2 |
(B)  TEEE T # 2594 ° A9 26 2 |

(C)  WEH=H1 =I1 HIfe=hl % {2 Aiagis e 2 |

\ r \ 3
(D) =77 WoET FoEam! w5 7 |

(B) v i mEte e 1 =1 i 26 2

= fou 0 faheT § | WeE IO 30 R 99 A

Options:-
(A). (C), (E) only =1 (A). (C). (E)

14
Option ID :- 9557,
(B). (C). M) only === (B). (C). (D)

u ’

Option ID :- 9558,
(B). (D). (E)only  =Ha= (B). (D). (E)

u V4
Option ID :- 9559,
(A). (D). (E) only  F= (A). (D). (E)

u 7

Option ID :- 9560,
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(B). (D). (E) only === (B). (D). (E)

Answer Given:- , Option ID : -9559

Question ID:- 2418

A company should undergo a step-wise process before selecting a final price. Accordingly,
arrange the following steps of priding-policy process to help 'XYZ' company to decide the final
price of its product.

{A)  Selecting the pricing method.

(B) Examining competitor'z cozts. prices and offers.

(C)  Estimating the demand curve and the probable guantities company will sell at each

possible price.
(D)  Selecting the pricing objective of the company.

(E) Estimating costs for different levels of output. for different levels of accumulated

production experience. and for differentiated marketing offers.

Choose the correct answer from the options given below :

e AT 1 S 5ed % =999 0 99 S00-a0 AT YT 90 | aeaAn, XYZ w6 S 3T

F HA9 T F [ F5 ¥ AeEad FeE g -HaRm W H e =1 9 T
(A)  Fea-Tgim T = o

(B)  wiefl = =0, 9o ue e #5 wiEn

(C)  TF =% 4T TAEd A 1 Ao Fid 95 F0H1 GEd god 1 e e |
(D) F9H1 T Hra-THEw 3559E FT =99

(E) =791 F Tqfq= w0, OiEd I09ed % 3 & G o s fesn Teee e F e o

Tl T ATFH |
=0 T e § 3 TR I #9299 A

Options:-
., (D). (B (E). (C), (A)

Option ID :- 9669,
(D), (C), (E} (B). (4)

Option ID :- 9670,
(A), (B), (C), (E). (D)

Option ID :- 9671,
(A). (D). (E). (C), (B)
14

Option ID :- 9672,
Answer Given:- D) (©.(EL®B. (&) option ID : -9670

4

14

Question ID:- 2409
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Match Tist T with Tast IT:

List I — Legal Latin Phrase List IT — Description
{A) Consensus ad idem (I)  Something in return
(B) @Qud pro quo (II) A= much as earned
(C) GQuantum meruit (ILIT) Buyer beware
(D) Caveate emptor (IV) Meeting of minds

Chooze the correct answer from the options given below:

Tl T4 = gt 11 = e it |

T 1 — 3y wfzT = =1 11 — faramor
(A) T U3 TE () =5el 4 T3
B fEzm (IT) TS s s3tsa
(C) aEmEw " (ITT) et e
(D) ==z 3992 (IV) = ==

919 f&u T faweT B | AE 39 5 99 A

Options:-
. (A)-(I), (B)-(II1). (C)-(IV). (D)-(IT)

Option ID :- 9633,
(A)-(IV). (B)-(I). (C)-(II). (D)-(IIT)

Option ID :- 9634,
(A)-(IT). (B)-{D). (C)-(III). (D)-(IV)

Option ID :- 9635,
(A)-(I). (B)-(IV). (C)-(I1). (D)-(110)

4
Option ID :- 9636,
Answer Given:- (A)-(ID). (B)-(I). (C)-(IIL}. (D)-(IV) , Option ID : -9635

14

14

14

Question ID:- 2416
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Arrange the following stages of delegation 1n correct seguence:

(A Establish proper controls,

{Bl  Select the person in light of the job to be done.

iC)  Reward effective delegation and successful assumption of authority.
(D)  Define assignments and delegate authority in light of results expected.

(E}  Maintain open lines of communication.

Choose the correct answer from the options given below :

TETETAT 1 HeAeET FEes e 9§ =g W

(A)  F=FF REET TS e

(B) &0 =/ =1 14 *1 4 1 TEd 5 =0 #1997 |

(C)  wyri TearITs 3 Tl I TSR TR S S|

(D) TR TEOTET F AR F FEE F SR w1 6 T aeEity |

fou U famwedt § A wET I W =EA HiA -

Options:-
(A), (B), (C), (E), (D)
14

Option ID :- 9661,
(B). (D). (E). (A). (C)

Option ID :- 9662,
(D). (B). (E). (AL (©)
14

Option ID :- 9663,
(C), (D) (B)L(E), (A)
14

Option ID :- 9664,
(D). (B). (E). (A). ()

14

Answer Given:- , Option ID : -9663

Question ID:- 2398
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Rates of Incame Tax under new regime applicable for financial year 2021-22 in India are:

(A) 8%

(B) 10%
(C) 12%
(D) 15%
(E} 20%

Choose the correct answer from the options given below :

upa | faed 9. 2021-22 % T 321 sgaw1 & w=01a @] 7 i SEE $1 5 8

(A) 5%

B 10%
(Cy  12%
(D)  15%
(E) 20%

49 oo o e § | w9E S # 99 S

Options:-
(A). (B). (Chonly == (A), (B), (C)

" r
Option ID :- 9589,
(A). (B). (D) only == (A). (B). (D)

14

| |
Option ID :- 9590,
(A). (B). (D). (E)only  ==a= (A). (B). (D). (E)

u I

Option ID :- 9591,
(B). (C), (D), (E)only == (B). (C). (D). (E)

u ’
Option ID :- 9592,

Answer Given:- 2 ®: (Conly  F (A), (B). (©) . Option ID : -9589

Question ID:- 2368

If the subject matter of insurance is the ship. the marne insurance 1s called:

G 1L e 0 i e s G ot s 1 o L e 1 ) A

Options:-

v [ul {a)
. Cargo insurance  =aral Hiel =MHE1
14
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Option ID :- 9469,

Hull insurance 2 &7 ]
Option ID :- 9470,

Freight insurance  ST31 &1

14

Option ID :- 9471,

Vovage Insurance AT =

14

Option ID :- 9472,

Answer Given:- Cargoinsurance SEGI A SH  gotion ID : -9469

Question ID:- 2379

As per Section 68 of the Indian Companies Act. a company may purchase its own shares out of
which of the following?

(A) Free reserves

(B}  Securities premium account
(C) General reserve

(D) Proceeds of any other shares

(E} Proceeds of same kind of shares

Choose the correct answer from the options given below :

e ] AT 1 9w 68 F AT A HeeEd § 6 AT H A = o 9 i Al A
(A) T e FrG
(B)  Tiag WS =
[ i}
(C)  HHE AWET g
(D) = I " UhH

(E) @9F 99T % 399 § "iH

I Tan T e B ® mE I R =99 far

Options:-
(A). (B). (C) and (E) only T (A). (B). (C) 3R (E)
| |

Option ID :- 9513,
(A), (B), (C) and (D) only  =Fa= (A). (B). (C) 3717 (D)

Option ID :- 9514,

4

14
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(B). (C). (D) and (E) only

Option ID :- 9515,
(A). (C), (D) and (E) only

Option ID :- 9516,

. {A). (C). (D) and (E) only
Answer Given:-

Response Sheet

Fa (B). (C). (D) #7 (E)

4

T4 (A). (C). (D) 31 (E)

14

FITALO. D EEE option 1D 1 -9516

Question ID:- 2404

Mateh List T with Last I :

List I — Type of Exposure

(4) Economic Exposure

(B) Translation Exposure
(C) Transaction Exposure
(D) Operating Exposure

List IT — Description

(I) Potential changes in all future cash flows of a firm
that result from unanticipated changes in exchange

rates.

It arizes when items of financial statements that are
stated in foreign currencies are restated in the home
currency of an MNC.

(IT)

(IIT) It arizes when a firm's contract obligations are

exposed to unanticipated changes in exchange rate.
When a firm's real assets are exposed
unanticipated changes 1n exchange rates.

(IV) to

Choose the correct answer from the options given below:

=1 15 W72 =1 1L faes i |

= I — TEA TR

ot I — o

- (AY-(IIT), (B)-(IV), (C)-(IT), (D}-(T1)

Option ID :- 9613,
(A)-(T). (B)-(II), (C)-(TIL), (DH-(IV)

Option ID :- 9614,
(A)-(IV), (B)(ILT), (C)-(1I), (D}-(I}

Option ID :- 9615,
(A)-(D). (BY)-(IV). (C)y-(I1I), (D)-(II)

Option ID :- 9616,

14

14

14

Answer Given:-

(A) TR THTEA (I) TafF=a =0 § 990iEs sooE 5 Oy e w5 F T
G FHE T9E § H9iET 95 |
(B) AT THEA () == 7@ = 2 == T v v o 3= Tl $ = g
o =0 He) hi IEERI TR W51 H U G0 R S 2
(C) T=Faer ToEA (III) == == =11 2 =& Bl v i smEtad aram G = 8
AR TEeE T TETEA 7
(D) T THEA (IV) =& T 6 & amaia® Tl G99 @ 5 e
TFEEATE H TETEd B E
Hig o @ fFFeul O 8 O 3 9 =99 i
Options:-

(.JL}-[I-}. lBi-{H). (C)-(IIL). (IN-(IV) , Option ID : -9614
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Question ID:- 2405
Match List T with Last 1T :
List I — Statistical Distribution
(A) Negatively Skewed Distribution
(B) Positively Skewed Distribution

(C) PBinomial Distinbution

(D) Normal Distribution

Response Sheet

List II — Characteristical Expression
(Il Mean =Mode, Plx<p)=0.50
(IT) ¥ =>Median > Mode: P >0.5
(IIT) x <Median < Mode

(IV) x> Median > Mode

Choose the correct answer from the options given below:

o=t I = Arg = 1 71 e i |

Tt 1 — AR T

(A4) TFEHF =9 H 7351 527 (D
(B) WHWIHF =9 I 23] 527 (1)
(C) Tgue #ed

(D) Fvarm 724

Teu T e °§ § HEl 3 @ 99 FiEn
Options:-

(A)-(II1), (By-(Ih, (C)-(IT). (D)-(IV)
n

Option ID :- 9617,
(A)-(D), (B)-(1I), (C)-(III). (D)-(IV)

Option ID :- 9618,
{A)-(IT). (B)-(TII). (CH)-(IV). (I-(D)

[ ] 4
Option ID :- 9619,
(A)-(III). (B)-(IV). (C)-(ID). (D)-(I)

Option ID :- 9620,

14

14

e =dgod, Plx<p)=0.50
¥ >mfeaHE > wgas: P>0.5
(IIl) x <=iea= < 95

(IV) ;T“>I|T1'€q?rr > "Rt

Answer Given:- - (B-IV). (O-ID. DD gution ID : -9620

Question ID:- 2385




10/19/22, 8:03 AM Response Sheet

Which of the following are key assumptions of Gordon's Dividend Maodel?
(A) EKe = br

(B) 1 and Ke are changing

(C)  The firm 1= not all-equity firm

(D)  The firm has perpetual life

(E) The retention ratio, once decided. 1s eonstant

Choose the correct answer from the eptions given below :

ETAtE 73 FH-F =4 F AT G5 F 95 JEunm # 7
(4) Ke>hr

(B) 1 3 Kedfigidd =t & 7|

(C) o HETE-3FEd 78 97 7 |

(D) e 2|

(E) % =m fuif 79w awo s fem 2

d/ fou o fEeTl § © =91 S F 99 Fian

Options:-
(A). (D). (E)only === (A), (D). (E)
| |

Option ID :- 9537,
(B). (C), (E) only = (B). (C). (E)

u ’
Option ID :- 9538,

(A). (B). D) only  FaT (A). (B). (D)
n
Option ID :- 9539,

(C). @), (E)only == (O). (D). (E)
. 7
Option ID :- 9540,
(B). (C), (E) only a7 (B). (C). (E)

14

4

Answer Given:- , Option ID : -9538

Question ID:- 2422
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Given below are two statements :

Statement [ @  Display of goods by a shopkeeper with prices marked on them. 1s not an offer
but an invitation to the public to make an offer to buy the goods.

Statement IT : Price quotations. catalogues and advertisements in newspaper for sale of an

article do constitute a valid offer.

In the light of the above statements. chodse the most appropriate answer from the options

given below :

e B0 T o | e 1 et At e o = [ L e 1 e e e 2 710 e e 1 B o B e M s 1

F FA 7 WA F AT R |
FoH (1) :  Toelt =g = T =0 oomm w3 o i 7, T vy faee o 39 e g . 2
TR F2A F AAF § A o o e ® 9 ges srae I = il

Options:-
. Both Statement I and Statement II are correct  F%7 (I) 3% (ID =H1 T21 & | ,
Option ID :- 9685,
_ Both Statement I and Statement II ave incorrect 2 (I) HR (D) ZF1 70 = |
Option ID :- 9686,

Statement I is correct but Statement II is incorrect  Fa7 (I) T#1 #, =4 Fe (I0) 7= 7 | ]
Option ID :- 9687,

Statement T is incorrect but Statement IT is correct =29 (1) 799 2. =199 2= (ID 75 2 |

Option ID :- 9688,

14

14

Answer Given:-
-9685

Baoth Statement I and Statement Il are corvect 99 (1) =17 (IL) =91 971 & | , Opti onID:

Question ID:- 2380
Which of the following are key features of prudent accounting concepts and conventions?
(A) Tt includes revenues and profits in the accounts when they are realised.
(B) It prevents profits from being overstated.
(C) It prevents a trader from more withdrawing from the business than 1s wise.
(D) Managerial efficiency and expertise.

(E) Good customer relations.

Choose the most appropriate answer from the options given below :
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Response Sheet

Higaehl =@ FEFAAEH AT TR F g 5 H A -F o T e A v
(A)  =HH Sl § TRE 9 o9 F OWH B F A 21 ATEe T A E
(B) = =Y i Wl-=] W FEA FA T A A

(C) == =MW1 % AN | SIEEAgEF S 9 AR #e H TR F

(Ey =99 o7=F =g

(C). (D) and (E) only

Option ID :- 9517,
{A). (D) and (Ey only

Option ID :- 9518,
(B). (C) and (D) only

Option ID :- 9519,
(A). (B) and (C) only

Option ID :- 9520,

Answer Given:-

(B).

(D) wE=hE FEFE AN e

H= T2 T ke | H HeE S 3T SR 9EE I
Options:-

*ae (0). (D) 31 (E)

14

Fae (A), (D) 37 (E)

4

*== (B). (C) 3717 (D)
4

=9 (A). (B) #i (C)

14

{C) and (D) only 4= (B). (T) 517 (D) ) Option ID : -9519

Question ID:- 2407

Match List T with List IT :

List I — Description List II — Conceptualization
{A) Net Stable Funding Ratio (I}  Asset Liabihity Management
(B) Imnovative Perpetual Debt Instrument (II) Tier —1I capital
(C) Time Maturity Gap (IIT) Tier —II capital

(D) Risk Weighted Assets (IV) Basel — III norms

Choose the correct answer from the options given below:
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7= 15 =g ge 11 o i |

=t [ — T Tt 11 — TieaTe sagrem
(&) = e i s () ufEg 5o T
(B) Far=di T o o (M) e I
(C) = giasEa (IIT) Tzaw I
(D) FEs g AEta (IV) =tEeT I 57+

=0 U T | | TR 3 W =EE S

Options:-

(A-(IV). (B)-(I0), (C)-(I). (D)-¢(I1I)
Option ID :- 9625,

(A)-(I). (B)-(IV). (C)-(ITL), (D)-(II)

I

Option ID :- 9626,

(A)-(ID). (By-(I0Ty. (CH IV, (DD
Option ID :- 9627,

(A)-(IV), (B)(IIT), (CH-(IT), (D)-(I)

I
Option ID :- 9628,
(A)-(IV). (B)-(TIII), (C)-(I0), (D)-(D)

4

Answer Given:- , Option ID : -9628

Question ID:- 2346

Economists’ adjustiment to reality limited by individual consumers’ preferences. intelligence
and environmental factors is called :

dafFas Ui AT, @a% 5 EETE FEE GEl =58 aeaEE E‘F]J HATRE AHEEA
Fro a7
Options:-

. Rationality  #ifgar
Option ID :- 9381,
Homo economicus =M1 =FHEITEFS
4
Option ID :- 9382,

Bounded rationality 90Eg (@323 Ao

14

Option ID :- 9383, ’
Consumer sovereignity ST HTA ’
Option ID :- 9384,

Answer Given:- Consumer sovereignity , Option ID : -9384

Question ID:- 2393
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A contract 1s discharged by supervening iinpossibility under which of the following situations?
(A) Destruction of subject matter

iB)  Death or disablenient of parties

(C)  Rescission

iD)  Remission

(E) Aeccord and satisfaction

Choose the most appropriate answer from the options given below .
TeATelian T Tt & el W (GO ET) SETsEaT GO Sl S | qie e e R
(A)  Ta99 =% 1 A2 =
(B)  "&EmI w1 GEI WUET A9 AT
(C) IREESE]

(D) S| P L

a

i1 foo o et § & wen SuEE I S A

Options:-
(A). (C) and (D) only == (A). (C) 37 (D)

[ ] I
Option ID :- 9569,

{A) and (B)only == (A) 511 (B)
Option ID :- 9570,

(A). (B) and (E)only == (A). (B) 317 (E)
Option ID :- 9571,

(C) and (D) only = (C) ¥ (D)

Option ID :- 9572,
(A) and (B) only

14

14

14

Answer Given:- F (4) ¥ (B)  option ID : -9570

Question ID:- 2387
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(A)

(B)

(C)

(D)

(E)

(A)

(B)

()

(D

(E}

Answer Given:-

Which of the following statements are correct?

Internal reliability is described as the consistency of a measure taken at two different

points of time.
A distribution 12 random walk if 1t has a mean of 0 and varance of 1.

Increase and decrease in scores measured overtime that produce a variance of less

than 50% is reliable.
Normal distribution cannot be applied to real life situations.

Factor Analyzis supersedes multiple dizeriminant analvsis.

Choose the most appropriate answer from the options given below :

g STaFe § S AT T A

A faraEHET @699 = o1 (9= fgat @ o 0 e % =9 8§ =awenea w6 2 |
w0 S eI 1 A Al S U Al AT # |

AFE-HEA WA T 3 (FFE) T gig A7 FH A0E 50% F T T F I T A, TR

* = - r o L > " -
T A AAEE AET ) TR &g WA Fh A 5| |

FIOF TH7e9vl, aziavs faveram § 3= 57 %1 70 7 |

S fan T T § | wEE I9EE I W 99 A

Options:-

(A). (B). (E)only =397 (A). (B). (E)
Option ID :- 9545,

(C), (D). (E) only &&= (C). (D), (E)
Option ID :- 9546,

(B). (C). D) only  Fa= (B). (). (D)

Option ID :- 9547,
(B). D). (E) only %a= (B). (D). (E)

4

14

14

14

Option ID :- 9548,

(B). (©). @ enly T (B).(O- D) gotion ID : -9547

Question ID:- 2344

Total revenue of a business firm inereases as long as :
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Options:-
. [Epl=1 ,
Option ID :- 9373,
. [Epl=1 ,
Option ID :- 9374,
|Ep| =1 ,
Option ID :- 9375,
|Ep| <0

14

Option ID :- 9376,
Answer Given:- Erl =1 option ID : -9373

Question ID:- 2378
Which of the following are thinly velled disguises that essentially restrict imports?
(A) Voluntary import restrictions
(B)y  Labeline requirements showing origin and contents
{C) Import tarrifs and quotas
(D)  Safety regulations for automobile and electrical equipments

(E}  Health regulations for hyziene production and packaging of imported food production

Chooze the most appropriate answer from the options given below :

frfelaa 5 & U8 FA-FH § 544 F=0 2 J 2Ea: A ) GEeEa H 8

(A) fEzw wEE e

(B) 309+ 371 ¥aged 1 790 FEd 59 0 F dHaEam
(C)  ¥W T T F=E

(D) =1 = N T IR He e e

(B} ==1aa =i Al F 30T 9 URET 6 e e A4l =eE [

= 7 T e 8§ T I9ET I @ == i

Options:-
(A). (B) and (C) only %37 (A). (B) 37 (O)

" 4
Option ID :- 9509,
(B). (C) and (D) only  Fa« (B). (C) 31 (D)

Option ID :- 9510,

14
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. (C). (D) and (E) only =57 (C). (D) 3117 (E)
Option ID :- 9511,

(B). (D) and (E) only  #a (B). (D) ¥ (E)

Option ID :- 9512,
(B). (C) and (D) only 4 (B). (C) 37 (D)

4

14

Answer Given:- , Option ID : -9510

Question ID:- 2357

According to Herzberg's Two Factor Theory. which one of the following 1s not a maintenance

factor?
=R F T5FF g F AR HEnEa 3 FE- T S 6 R
Options:-

Affiliation or Acceptance HEEA U] J'J'i?_-rlﬂ
Option ID :- 9425,

Esteem or Status  ZEAM 441 WA

4

Option ID :- 9426,

Security or Safety & wuay w=E
Option ID :- 9427,

Physiological Needs I STE7aaHam
Option ID :- 9428,

Physiological Needs  TIRITH SETIHAT , Option ID : -9428

14

14

4

Answer Given:-

Question ID:- 2420
Steps involved in computation of Book Profit under MAT regime ave as follows:
(A) Armve NP as per statement of P/L A/C of the company.
iB) Specific adjustments In case of merger.
(<) Make adjustments pertaining to OCI items.
(D) Adjust the book profit with stipulated exclusion and inclusion.

(E)  Net amount of Book Profit for application of MAT rate

Choose the correct sequence from the options given below :
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H7 =191 % S §A 919 F Oie § e I = E
(A)  FEF Ao e s v ) a9 g |
(B) 99 99w § AR S9EEA |

(C) =1 di 31 wel ° geiad aaEmE w40  |

(D) 8% 9995 27 S99 919 9951 @1 F AEnEd 44 |

fau v faedi B wE w1 e i

Options:-
(A (D). (B). (CL (E)
I
Option ID :- 9677,
(A). (B), (D). (C). (E)

Option ID :- 9678,
(A), (C). (B). (D), (E)
Option ID :- 9679,
(A (B). (C). (D). (E}

Option ID :- 9680,
(A, (C). (B). (D). (E)

4

14

4

Answer Given:- , Option ID : -9679

Question ID:- 2421

Given below are two statements ;

Statement I: Policies are guides to action. rather than to thinking.

Statement II: Policies define an area within which a decision is to be made.

In the light of the above statements, choose the most appropriate answer from the options

given below :

9 o wUT R e E

Fo ([) ;AT o =1 T T 1 9E-gEeE wel |

ER e e e | e B e U e T e o e e 2 2 LA

Options:-

Both Statement I and Statement IT ave correct 2 (1) A7 (ID =H1 971 7 |
u I4
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Option ID :- 9681,

Both Statement I and Statement II are incorrect %4 (I} 31 (L) 51 7Te7d = |
Option ID :- 9682,

Statement I is correct but Statement IT is incorrect %2 (I) 981 2. 9 449 (1) 797 = |
| |
Option ID :- 9683,
Statement I 1= incorrect but Statement II is correct 799 (I) 7o 7, =4 4= (11 921 = |

14

4

14

Option ID :- 9684,

Answer Given:- Both Statement I and Statement IT are correct 29 (1) 391 (I =T |81 7 |

-9681

, Option ID :

Question ID:- 2423

Given below are two statements ! One 12 labelled as Assertion (A) and the other is labelled as

Reason (R) :

Assertion (A):  Capital structure iz determined within debt ecapacity of a company and it
should not he exceeded.

Eeason (R) : Debt capacity of a company depends on its ability fo generate cash flows,

It should generate cash enough to pav lenders’ fixed charges and

principal sum.

In the light of the above Statements. choose the most appropriate answer from the options

ziven below :

9= =1 #o fom w2 uF AfMFHE (Assertion A)F ¥9 H fafEd 2 91 g9n 9% 0 (Reason R) %

=R

AHFST (A) - Rt FAt Fi S G 3w ama + i it et 2 o sme st
TE T =0T |

7% (R) : TR =BT =1 S0 AT AHal T 369 T4 Sl 35 g 9 HET Wl B | 34

SUETAIAT F T I S0 G T T AR T T Tl S0 FA1 =i |

ST F2F F Ae0F §, 909 5T T FEed B 0 He 999 5 6 99d i

Options:-

Both (A) and (R) are correct and (R) 1= the correct explanation of (A)
| |

(A) 317 (R) 21 521 3 #10 (R). (A) =1 T2 =amea1 2 |
Option ID :- 9689,

Both (A) and (R) are corvect but (R) iz NOT the correct explanation of (A)
(A) 77 (R) 5T 541 2, oA (R), (A) 5 T8 = 74 2|
Option ID :- 9690, '

(A) 13 correct but (R) 1s not correct  (A) 78 2. =59 (B) T8 751 = |

Option ID :- 9691,

14
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(A) is not correct but (R) iz correct  (A) 71 771 7. =& (R) 971 71
L 14
Option ID :- 9692,

. Both (A) and (R) are correct and (R) 1= the correct explanation of (A)
Answer Given:-

(A) A0 (R) =41 581 & 91 (R). (A) 71 T7 = 7 | .
, Option ID : -9689

Question ID:- 2395

Mlichael Porter has identified five forces that determine the intrinsic long-term attractiveness

of a market. According to the model. which of the following are true?

(A) A segment 1s unatiractive if it already contains numerous ageressive competitors.
(B) A segment is unattractive if it 1= stable or dechining.

(Cy A segment 1s unattractive if it has high entry barriers and low exit barmers,

(D) A segment is unattractive if the company’'s 2uppliers are able to raize prices.

(E) A segment 1s unattractive when there are actual or potent substitutes for the produect.

Choose the most appropriate answer from the options given below :

TeAteliad 5 3 FA—FE Te 2 7
(B) it &7 SRR B B, 9 A O s S

(D) T2 & FAERTE 7T 7, T FEH F AAET goF 9ig § H9EE 7 |

(E) 13 % SARTE S 2, 96 Al Sea7s W AniaE A9E waiEn Ao 7 |

S fau T o § o weE I I F 59 AT

Options:-

(A) and (B) only  Zge (A) 17 (B)
] L ’
Option ID :- 9577,

{B) and (C) only == (B) 3117 ()

u 14

Option ID :- 9578,
(A). (C) and (D) only  #a# (A). (C) 51 (D)

L V4
Option ID :- 9579,
(A). (B). (D) and (E) only  Fa= (A), (B). (D) #1 (E)
4

Option ID :- 9580,
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(A). (C) and (D) only = (A). (C) 37 (D)

Answer Given:- , Option ID : -9579

Question ID:- 2367

Dimensions of VALST™ framework to include which one of the following?

-~

il ) | . 35, W 1 - 3 g
A vus I HHTF § 9 9 F FAA = AT

Options:-
_ Consumer motivation and consumer resources  ITYTEAT HTHIT ST ITHEHT TETEE
Option ID :- 9465,
. Consumer personality and consumer resources TTYTH] ST ST 3T SETEE
Option ID :- 9466,
. Consumer motivation and consumer preferences TTHIST AT 3T I A
Option ID :- 9467,

Consumer needs and consumer resources I HETIFAT 7 I09EET TAGH

I

Option ID :- 9468,
Answer Given:- Consumerneeds and consumer resources YT AETIEAT, S SO HATE , Option ID :
-9468

4

14

14

Question ID:- 2400

Under Indian Income Tax Act. allowances which are non-taxable for the individual assessee

are:

(A) Sumptuary allowances,

iB) Compensatory allowanee paid to judges,

(C) Overtime allowance.

(D) Allowances pald to Govt. emplovees posted abroad

(E) Non-practicing allowance.

Choose the most appropriate answer from the options given below :
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(A) =P aed |
(B) S 1 WEH T T SRR e

(C) AT e |

(D) TasE § HEEE TR A e T A a9 |

(E) T-var=g o |

S Tou T feRedl § ® HWaH 39 I =9 hICA -
Options:-
(A). (B). (D), (E) only  FA (A). (B). (D). (E)
" r

Option ID :- 9597,
(A), (C), (D). (E)only == (A), (C). (D). (E) ]
Option ID :- 9598,
(). (B). D) only Fa (A). (B). (D)
Option ID :- 9599,
. (A) (B (O, (D), (E)  (A) (B). (C). (D). (E) y
Option ID :- 9600,
(A), (C), (D). (E) only &= (A). (C). (D). (B)

4

Answer Given:- , Option ID : -9598

Question ID:- 2383

A prudent financial policy suggested by Marris Hypothesis to maximize balanced growth of

the firm iz based on which of following financial ratios?
(A)  Return on investment ratio

(B) Debt equity ratio

(C) Return on capital employed ratio

(D)  Ligmdity ratio

(E) Retention ratio

Choose the most appropriate answer from the options given helow :
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A 9] 9T ST 2

(A) a9 W OAEe S

(B) = i S

(C) e 9 T wiaE S
(D) T I

(E) S 2T

Hr= foo v Tl § W wEA 39T I = A
Options:-

_ (A). (B) and (C) only 4= (A}, (B) #iT ()
Option ID :- 9529, '
(B). (C) and (D) only ae (B). (C) #iT (D) ]
Option ID :- 9530,
. (A). (C) and (D) only === (A), (C) =7 (D)
Option ID :- 9531,
(B). (D) and (E) only Faet (B). (D) 3117 (E)

14
Option ID :- 9532,
(A). (B) and (C) only

4

Answer Given:- FA (A). (B) 7 (O)  option ID : -9529

Question ID:- 2348

Preference share in India 1= 1ssued by a company for a maximum period of :

YA § TRl I g SEEE IR s T et F e e s 2 0

Options:-
. 10 vears 10=d

14

Option ID :- 9389,
15 years 15949 ,
Option ID :- 9390,
. 20 vears 209
Option ID :- 939]'.,
. Unlimited period i st
Option ID :- 9392,

14

20 years 20

Answer Given:- . , Option ID : -9391

Question ID:- 2336
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Which one of the following theories describes FDI flows in ecosystems?

T 79 4 U 21 18 F WAt i e wn HEeiga B 8w 1 mge 27

Options:-
, Product Life Cyele Theory 37915 S fagE ,
Option ID :- 9341,

Factor Endowment Theory  FFH-—FAET g ]
Option ID :- 9342,

Waterfall Theory T2i-Fi% fEgE ]
Option ID :- 9343,

New Trade Theory 791 =W H@zH ]
Option ID :- 9344,

Answer Given:- New Trade Theory 71 =IMF MW gotion ID : -0344

Question ID:- 2340

Break-even point 1s not affected with the changes in which one of the following?
= 9 o e wF 9hEAA | HaeA- g e A8 v A

Options:-

, Sale price per unit Ta-sFE e el ]
Option ID :- 9357,

. Variable cost per unit Tid ThE = A
Option ID :- 9358,

. Number of units sold 57 1 T TFET F1 TEA
Option ID :- 9359,

_ Total fixed costs  Fe1 o ara
Option ID :- 9360,

Number of units scld  fzF1 &1 7 sFisa 1 9= , Option ID : -9359

14

14

4

Answer Given:-

Question ID:- 2401

Mateh List T with Last I :

List I - International Trade Theories List IT — Expounders
(A) Absolute Advantage (I} Dawid Ricardo
(B) Factor Endowments (II) Minhas. Leontief et. al.
(C') Factor — Infensity Reversal (IIT) Adam Smith
(D) Comparative Advantage (TV) Heckscher — Ohlin

Choose the correct answer from the options given helow:
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g1 I 91 g1 11 =1 oo il |

Tl 1 — g == g Tl 11 — Wi
(A) =9 = () =ras foEre
(B) FH-HETHA TiaHd (1) Tr=m feEites A 5=
(C) Frh-Taeal Taw (IIT) v=g fE
(D) FeAmES =14 (IV) =ar-#ATlEem

fan v T E O W I 9 S

Options:-

(A)-(IIT}. (B)-(II). (C)-{IV). (D)-(T)
u ’
Option ID :- 9601,

(A)-(III). (B)-(IV). (C)-(1D). (D)-(I)
Option ID :- 9602,

(A)-(I). (B)-(IV). (C)-(II). (D)-(I1I)

[ ] 14
Option ID :- 9603,
(A)-(IT). (B)-(T). (C)-(I. (D)-(IV)

Option ID :- 9604,
Answer Given:- -0 (B-0V). (©-ID. @D option ID : -9602

14

Question ID:- 2384

The gualified characteristics determining (constituting) consumer ‘rationality’ includes
which of the following?

{A)  Economic selfish motives
(B)  Risk-return optimiser
(C) Clarity of preferences
iD)  Possession of information

(E) Non-gatiation of needs

Choose the most appropriate answer from the options given below :
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T SiSHEAl F AU (ST ) F 9 SeE =eeaal § 5§ S e w2l e v

(A)  7ieR SETeTAT ST

(B) 11 b2 B oo v i) 1 o) 0 o T e

(C)  FiEAET i wE
(D) =1 TETEE

(E)  TEv=Fa1s] o TH-aimgm

9= fou o T ® © g I0gT I R 999 Fian

Options:-
(A). (B)and (C) only e (A). (B) 3517 (C)

14

Option ID :- 9533,
(C). (D) and (E) only &= (C). (D) 37 (E)
Option ID :- 9534,

(A), (B). (C) and (D) only =4 (A). (B). () #ilt (D)

14

Option ID :- 9535,

(A (C). (D) and (E)only =7 (A). (). (D) =7 (E)
Option ID :- 9536,

Answer Given:- ‘& (B). (0O and D)only  Fa (A). (B). ()57 (D) option ID : -9535

4

4

Question ID:- 2349

The ecurrent market price per share of New Age Limited is Rs. 80. The dividend expected a
vear from now is Rs. 4 and it 1s expected to grow at a constant rate of 10 percent. The

floatation (1ssue) cost for the new 1ssue will be 8 percent. What 1= the cost of new equity?

= v fefoes =1 win s/ 9dam = $ima 80 %99 2 | 9 § ©F 99 °% F g1 | 4 59 2
7o 10 iAo 1 Hoa o ° W ) A0 7 | U HH F AW W F e 8 WEeE 7| 98 siEee) il
T 7 A7

Options:-
15.43 percent  15.43 9fATE

u ’
Option ID :- 9393,
15.00 percent  15.00 9faam
Option ID :- 9394,
5.00 pereent  5.00 T

14
Option ID :- 9395,

5.43 percent  5.43 TiETA
14

14
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Option ID :- 9396,

15.00 percent  15.00 wfAoa

Answer Given:- -, Option ID : -9394

Question ID:- 2350
From the following. select the right option with reference to the working capital:
FATE g1 & F5H 7 FeieiEy 3 7 w8 ey gh

Options:-
Higher net working capital leads to higher Hquidity and higher profitability

Eps ) e I b o 1 e oL L o e e L b et e
Option ID :- 9397,

According to hedging approach. current assets should be financed from long-term
sources,

14

WA IVTH % HAEW, SO HIEAT S S e AT d T =90Ee |
4
Option ID :- 9398,

There 1z an Inverze relationship between the length of operating cyele of a firm and 1ts
working capital requirements.

et w0 F TEeE wF F o AR SR e Do F AEeEEae & A Taes gag

A
Option ID :- 9399,

Trade-off plan. in general. 1= considered an appropriate financing strategy for working
capital.

T F9 T FESAAI-FA] ATFAT 1 HEAA TA ) ITAR [0 T S A e

I
Option ID :- 9400,
Higher net working capital leads to higher liquidity and higher profitability

Answer Given:-
3T 15 = 791} Eik: T G B T .— :F‘ -
=Tl 95 FET G H FeEal dieldl H IEEal S BTz | , Option ID : -9397

Question ID:- 2414
Arrange the following steps in the process of GDR Issues:
(A}  Registration with prescribed authority
(B)  Appointment and vesting of shares with the custodian
(C)  Approval of the regulatory authorities
(D) Lasting of GDR

(E) GDE allotment

Choose the correct answer from the options given below :
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S AR W W F A = H st S
(&) Tiea Tie=eT & A s |

(B)  wfwarw F1 Frrfam aam = o sifawam |

(C)  TEtEmTsr e #1 g |

(D) == AR T gEEG T

(E) =1 31 #F 3

oo o faFeat 8 O T I 9me Fi
Options:-
(C) (A, (B), (E), (D)
L I

Option ID :- 9653,
(A, (B), (©). (D). (E)

Option ID :- 9654,
(A)(O), (B). (E), (I

Option ID :- 9655,
(B). (A (C). (D) (E)

4

Option ID :- 9656,
Answer Given:- (4. (B, (©). (D). (E) , Option ID : -9654

14

14

Question ID:- 2411

Arrange the following negotiation rounds of WITO (World Trade Organisation) in reverse

chronological crder:

(A) Uruguay Round
B Geneva Round
(8] Eennedy Round
iD)  Doha Round

(E) Tokyo Round

Choose the correct answer from the options given below :
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Tava =AW TTEA ] A F A S F 3 e E S i
(A) T o

(B) FHETER

(C) FAgER

(D) wwEIEn

(E) 7/ Te

LR LU = ot == = e e - B 1 1

Options:-
(A), (C), (D). (B). (E)

Option ID :- 9641,
(D). (A (E) (C). (B)
I

Option ID :- 9642,
(B). (A). (C). (E). (D)

4

14

Option ID :- 9643,
(D). (E). (A). (C). (B)

Option ID :- 9644,
(A), (C). (D). (B). (E)

14

Answer Given:- , Option ID : -9641

Question ID:- 2369

In case of a warranty. the buyer can :
INE F WS °, F T EEA

Options:-

Repudiate the contract AEa 9 TFR
" ’
Option ID :- 9473,

Claim damages only %AW UHE & o0 2=
Option ID :- 9474,
Return the goods  Hi=1 1 ATgH

I

Option ID :- 9475,
Refuse to pay the price =iad =@ 9 o
n
Option ID :- 9476,

14

14

Answer Given;- Clam damagesonly  TEAH FEF A o ovion ID : -9474

Question ID:- 2343
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Writien plan containing the details regarding the conduct of a particular audit 1s called:

TF @ 9 9N Oared 6 TEu H O =90 awl T@ngd 9iedr # FeenEd § 3 9= Fal
iGN

Options:-
., Audit Memorandum T T T
Option ID :- 9369,

Audit Planning Procedure &3 TIET AT FrEE ]
Option ID :- 9370,

Audit Noteboole =731 T fzomwit qferm

Option ID :- 9371,
Audst Programme  =ay WiET FFE
4

4

14

Option ID :- 9372,

Answer Given:- Audit Memorandum & 4 I option ID : -9369

Question ID:- 2382
A price celling below the equilibrium price possibly leads to which of the following?
(4A) Black marketing
(B)  Commedity glut
{C)  Shortage of commodity
(D)  Commodity export

(E) Price dechine

Choose the correct answer from the options given below :

T HAd T H FEd-Sed—HIg H9an: e 0 F TR #0  Wb A 7
(A)  FreTETAE
(B) =% #i R
(C) 3% F1 A
(D) == e

(E) A 5 T

E T B L LU o i B = = o s e 1 B P 31 1 5 1
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Options:-
_ (%) and (B) enly Fae (A) #T (B)
Option ID :- 9525,

{D) and (E) only a1 (D) w7 (E)
u ’
Option ID :- 9526,

(A) and (C) only  Faa (A) 37 (C)
| |
Option ID :- 9527,

(A). (B) and (C) only %= (A). (B) 377 (C)

Option ID :- 9528,
(A) and (C) only s (A) 3 (C)

4

14

14

Answer Given:- , Option ID : -9527

Question ID:- 2361

Which one of the following 1s an example of Secondary Reserves?

=it 5 § FF =91 70 Aniea bt w5 mmm 27

Options:-
. Cash in hand and balances with other banks in current account 7] 9 33 a5 = e T | 909
Option ID :- 9441,

Balances with RBI for CRR  # 3% 50 % (=0 37 & == % 919 =91 109
L I

Option ID :- 9442,

Investment in Commercial Paper  =amrirs 73 © Ha9
[ ] 4
Option ID :- 9443,

= 4 o -iin . — 2 R - e e
Investment in Government Securities for SLR H U] AR o T8 TR WAl 3 1992
" ’

Option ID :- 9444,

. . . - ) . z - AR o SO o S 505 7 i,
Investment in Government Securities for SLRE UH Uef HE = [0 TRE] T HEA 5 =609

14

Answer Given:-
Option ID : -9444

Question ID:- 2347

When a monopolist switches from chareing a single price to perfect price discrimination. it
reduces

58 U RIS EAE T 59 B YN G 995 A1 S # A, 4 e w27

Options:-
. The guantity produced T Al Eil

Option ID :- 9385,
The firm's profit 5t & =% =71

. r
Option ID :- 9386,

Consumer surplus T FYe
Option ID :- 9387,

PRl i, L
Total surplus el AT 5l ]

14

4
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Answer Given:-

Option ID :- 9388,

Consumer surplus  S9HERT Sfae i , Option ID : -9387

(A)

(B)

(C)

(D)

(E)

(A)

(B)
(C
(D)

(E)

Option ID :- 9552,

Answer Given:-

Question ID:- 2388

Choose the correct options regarding banking:

Chain banking indicates the form of bank cartel that occurs when a small group of

people control atleast three banks that are independently chartered.

PAN number 1z required for deposits in a commercial bank for Rs.50.000

and above.

Upon detection of counterfeit notes at the counter. the bank can impound the note and
issue receipt,

The Interest rates on bank’s contribution to Rural Infrastructure Development Fund is
fixed by NABARD.

REI Act. 1934 prohibits the malking or issuing of a promissory note expressed to be

pavable to the hearers thereof.

Chooze the most appropriate answer firom the options given below :

S F AT B e 3 e R

e AfFT 9% F2dA F1 W FAl 2, A T 21 2 T9 TF S G 7§ 7w gAad diF SH6
T A 2, T =aa =9 1 g o 2
Fio=rF 4% 7 50,000 AR F9H FGF AR FANA F o0 0 T | 7 |

AW AR, SAEEE, 1934 F 750 WES] T2 % 90 90F F 5 Araeatan @ 59 A0 w0
Az 7

I for T faEeT § ° meE 39T I F 999 A

Options:-

(B). (D). (E) only  ae (B), (D), (E)
u ’
Option ID :- 9549,

(B). (O) only  F=4 (B, (O)
u /4
Option ID :- 9550,

(A). (D). (E) orly === (A). (D). (E)
u ’
Option ID :- 9551,

(A), (B). (C)only 97 (A), (B). (C)

I
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Question ID:- 2372

Under the Vivad se Vishwas Act, 2020 the amount payable by the declarant U/S 3 on or after
January 1. 2021 1s :

faams = fagam wfal=m, 2020 F #97 99 w0 O Gl 9R-3 % A@dE 1 SE, 2021 % s

Options:-
. Amount of disputed tax  T=area 1 =7 70
Option ID :- 9485,

The agzrezate of the amount of disputed tax and 10% of disputed tax

14

Option ID :- 9486, ’
. Amount of penalty and amount computed by CBDT.  sifeg =j 7191 =9 =1 =1 =1 21 gR1 &9 719 i
Option ID :- 9487,

Average of tax arrears for last three assessment years. T 7 m 97 F W TEE] T A ]
Option ID :- 9488,
Answer Given:- The agsregate of the amount of disputed tax and 10% of disputed tax
Teentza =0 <1 Wel Trfr uF fa=riey e F 10% H1 an , Option ID : -9486

Question ID:- 2352

In a statistical experiment. an effect =1ze is described as:

Options:-
. Effective testing of hypothesis  T9E1 W& Tiseg
Option ID :- 9405,
Probable success of an experimental manipulation % THIF #ie= #1 TaEd THAA
Option ID :- 9406,
Quantitative measurement of the magnitude of the experimental effect AT T4 F AFRE T 0 919 ]
Option ID :- 9407,
Standardised measure of the magnitude of the effect ohserved in an experiment
Tafl TV § SEIE 0TS AT F A 6
Option ID :- 9408, '

Standardised measure of the magnitude of the effect ohserved in an experiment

14

Answer Given:-

Tf1 T W FASIFG THE F SHT ] AHET AT , Option ID : -9408

Question ID:- 2419
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Sequence the following in copyright ecosystem for literary creation under the Indian
Copyright Act, 1957 :

(A)  Public communication
(B) Copyvright assignment
() Content development
(D) Relinguizh copyright

(E}  Copyright transmission

Choose the correct answer from the options given below :

A Fdwsz wiatEm, 1957 F S SiEaE FHe 6 6w Fwmez 99 8 s W aE w6 9
?iig"_:

(A) & HUEE
(B)  FrnTEE w@Ee
(C) Tam g TFm

(D) FHEEZ w1 A

[E} ’J-dq.-il 1:;‘_ m

v o Tae 0§ OE 39 6 99 Fie
Options:-
(AY > (EY = (B) > (D) = (C)
u 14

Option ID :- 9673,
(C) > (A) = (B) > (E) > (D)

Option ID :- 9674,
(E) = (C) = (B) = (D) —= (4)

Option ID :- 9675,
(B = (C) 5 (E) > {A) = (D)

Option ID :- 9676,
(At = (E) = (B) = (D) —= (C)

14

14

14

Answer Given:- , Option ID : -9673

Question ID:- 2355
The standard ervoris a statistical measure of

Options:-
. The normal distrmbution of scores around the sample mean. T2 15T F FHF F TEET 957070
4
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Option ID :- 9417,

The extent to which a sample mean 1s likely to differ from the population mean.

TieaT] TS, SEEAT 515 H e 19 |
Option ID :- 9418, '
The clustering of scores at each end of a survey scale, TE O T F 3T § TRA ] 9T |

Option ID :- 9419,

. The degree to which the sample has been accurately stratified, TiAge T TE-TE A BH 2 i,
Option ID :- 9420,
Answer Given:- The normal distribution of scores around the sample mean. TEE3 154 *F =R F ATHET ﬁ-‘-IT‘UTl,
Option ID : -9417

Question ID:- 2413

Logically sequence the following economic enfities/identities in understanding the theory of

consumer choles:

(A}  Budget line

(B)  Utility analysis

(C) Demand curve analysis
(D) Indifference curve analvsis

(E)  Consumer equilibrium

Chooze the correct answer from the options given below :

SUHTHT ET F TG G § e -TeEn e e A aiE #8 F T
(&) w9 (FE =)

(B) I T

() T = T

(D)  ¥EAEEE 9% fFvemm

(E) 39 T30

Tou T fammeal § A TE I = i

Options:-
(D) = (E) = (A) = (B) = (C)

Option ID :- 9649,
(B) = (D) = (A) = (E) = ()

Option ID :- 9650,

14

14
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iB)—= (C)—= (D)= (A) = (E)

Option ID :- 9651,
(Bl = (D) = (A} = (C) = (E)

u ’

Option ID :- 9652,
Answer Given:- B (=D =) =>(E  gution ID : -9651

4

Question ID:- 2338

“If vou know the enemy and know vourself. vou need not fear the result of a hundred battlez”

Above statement of Sun Tzu corresponds to which one of the following components of Porter's
Five Forces Model?

A= 3T T F A F R H ARG 7, A S A IGO0 H S 76 a6 2|

T 7 F IHE FYA 027 F TS FIGE G5 o HeeEd § 9 50 5uF I 0w A v

Options:-
Threat of substitutes  =HY= =1 99

Option ID :- 9349,
Threat of Competitor WF=Z] F1 54
4
Option ID :- 9350,
Bargain Power of Supplier STt =1 Afa—7riad
I

Option ID :- 9351,
Threat of New Entrants A0 DasFaie =1 99

u 14

Option ID :- 9352,
Answer Given:- [hreatof Competitor JIFIE 153  Qption ID : -9350

14

Question ID:- 2363

Which one of the following 1s false with respect to Interest rate structure in the Indian money
market?

el | | FEE] F9 9AAE g1 96 8 AT o W A 5 T F

Options:-
A very tight lquidity position will increase the call rates while excess ligquidity will

give fairly low and stable rates.
UF AT o7 T 6 A F 5 ° GG w, R Aaed wed queE = " 6 A T
= TEH |
Option ID :- 9449,
If the hguidity crunch of the banks is passed on to the system. 1t may lead to high
volatility in the call rates.
afE &% 0 e 1 96l FH WnE § 99 5 A6 2 A1 o6E Fie o6 3 Sead sAn-=gd i
Option ID :- 9450,
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Call rates under normal hiquidity conditions are the cap rate for the term money

market.
Option ID :- 9451,

In a volatile call market situation. lending will yvield high retwrn and by selling

Inter-bank participation, the hank will have more money to play in the call market.
| |

UF S SAR-dE U Fie 9w EtE 8 3uw 24 0 3= AHEd Wi w2 2 S Ha-aF
q i L.F"I :-%{ iﬂ- '.:F':. -"-:i ‘éF-F ? RIES ':ﬁd]’_"‘f SiAN _q ‘-1_-[- a- F} % 'IJ.FT[' '-_',TIP"EI'_.F T rl.a' IqA%E ,—':-_' lpi |

Option ID :- 9452,
A very tight hgudity position will increase the call rates while excess liguidity will

14

Answer Given:- give fairly low and stable rates.

UF Afq a7 Al 1 el Fie 0 9 g O, FEE Siae S qaiEd =1 8 6o

=T U F | , Option ID : -9449

Question ID:- 2354

A co-efficient of correlation having a value of +0.87 1mplies that -
TEEEY & TE & +0.87 H 1 HiAwE 54w 27

Options:-
. Co-efficient of correlation is strong and positive. HEHAY F NE TS AE TEEHE 7 |
Option ID :- 9413,

Co-efficient of determination is extremely weak. T 01 FrA(sF FO1 7 |
Option ID :- 9414,

The relationship between two variables is weak, but positive. 31 0 & #5% H5Y FAAT HF] TFOEF 7 |

14

Option ID :- 9415,

The relationship between two variables is strong. %1 =7 & 954 %59 Ta 2 |

| |
Option ID :- 9416,
The relationship between two varables 13 strong. 7 = F OE Tad 9 # | , Option ID :

14

14

14

Answer Given:-
-9416

Question ID:- 2342

In Fund Flow Statement. which one of the following 1= not a valid statement?

g TETE weA § AeeEa 5 " FE 9 T 99 B T 7 ¢

Options:-
. It iz prepared to know the total sources and their uses in a year.
T UE A W T W9 A AR S A S 0 SaE o Ae f
Option ID :- 9365,
Dividend received is a source of funds. T FI9 T 1 vF | 7 2
Option ID :- 9366,

14
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Its preparation is at the discretion of the management. 8 d4F H01 T4 =1 [EaHHE £ | ]
Option ID :- 9367,

It 1= u=eful for external financial management. 3% &S T e F Tow 3wt 7

n
Option ID :- 9368,
Its preparation is at the discretion of the management. T8 TV F1 Taa =] THERTaHE 2 |

4

4

Answer Given:-
Option ID : -9367

Question ID:- 2392
Which of the following statements are correct?

(4)  The difference between sample variance and population variance computation 1s

replaced by ¥ .
iB)  Cronbach alpha value less than 0.30 indicates reliability of research instrument.
(Cy  The value of B2 = 1 mayv imply that regression 1s spurious.

(D)  The identical obhservation of sample and population parameters shows that every

sample can be substituted as population.
(E)  Randomise control trial is a qualitative approach to research.
Choose the correct answer from the options given below :

=tetEs 4 5w | w9 wh 2 7

(A) TN T AR S T Wi 6 RS © R g g 7

(B)  wideF weF 99 = 0.30 9 79 7 7% 70" 3900 F [avaeHiaar = S w4 6 |
(C) BT =1 = 99 TiaHq F1 {9z (Pyfeg) s a2
(D) 7 H TETT SR T ST U4 T 9] SEE B ST

(E)  =mgf=oF faam 9item =1y 79 o o 59T 7
Hr f7u T fawe § O TEd I0rE I W 29 R

Options:-
(C). (D). (E) only  F3= (C). (D). (E)

Option ID :- 9565,
(A). (B). (O, (D) only Faet (A). (B). (C). (D)

u ’

Option ID :- 9566,
(A). (C). (D). (B) only  F= (A). (C). (D). (E)

Option ID :- 9567,

14

14
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(B). (C). (D) only  ZFa= (B). (C). (D)

u ’
Option ID :- 9568,

(A). (B). (C). (D) only ==t (A), (B). (C). (D)

Answer Given:- , Option ID : -9566

Question ID:- 2360

The hanks wherein a majority of depositors are non-residents are called

Options:-
Cross Payment Banke &M YT EEd

14
Option ID :- 9437,
Currency Banks 51 5

| | 14
Option ID :- 9438,
Forelgn Banks el 5

Option ID :- 9439,
Offshore Banks 197919 &
u ’

Option ID :- 9440,

Answer Given:- Clspore Banks - SWER AT 6 vion ID : -9440

14

Question ID:- 2425
Given below are two statements :

Statement I: Marketing managers must calculate customer bfetime wvalues of themr

customer base to understand their profit implications.

Statement I1 1  Activity — bazed costing. an accounting technique, is very useful for conducting

customer profitability analysis,

In the light of the above Statements. choose the most appropriate answer from the options

given helow :

Fo (1) TE99F g9 F1 394 709 F HEaUl F1 96994 F 90 99 wEF S9E ° #@EET 0E 56

Fo (ID) : T | =09 =1 G9=I9 F1 Gveam %04 F 60 oA G940 B B9 | TiEEE A
I AT AT I E

I FHEA F AEE °, A 150 T el 8§ weE I9E I H =E A

Options:-

Both Statement I and Statement IT are correct 37 (I) 377 (II) 541 &A1 7 |

Option ID :- 9697,

14
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. Both Statement I and Statement IT ave incorrect  F29 (D) =7 (ID) =4 704 2 |
Option ID :- 9698,

Statement I is correct but Statement IT is incorrect  #9 (I) 771 2, =1 w2 (ID) 7o * |
Option ID :- 9699,
. Statement I is incorrect but Statement I is correct =29 (I) 7o 7. =9 %97 (10 541 2 |
Option ID :- 9700,

o i & e Fa s (IT) =11 =81 3 .
Both Statement I and Statement IT are correct 27 (I) 37 (II) =T T#1 7 | , Option ID :

14

4

14

Answer Given:-
-9697

Question ID:- 2359

Which one of the following motives characterizes dominant organizational climate of university
teaching departments/scientific organizations?

et st & & -2 o Pt foem ) A S S e s e

Options:-
. Affiliation  TO&E9 ,
Option ID :- 9433,

Extension THE ,
Option ID :- 9434,

Expert power TS TR
Option ID :- 9435, '
. Achievement 3IT=lEy
Option ID :- 9436,
Answer Given:- Affiliation =53 gption ID : -9433

14

Question ID:- 2381
Which of the following decision cholces are valid in relation to marginal costing?
(A) Costing ‘special or ‘one off opportunities.
(Bi  Deciding whether to make or buy a product.
(C)  DMost appropriate technigue because of application of more automation in the industry.
(D)  Choosing between competing alternative actions,

(E) Employing a penetration or destroyer pricing strategy.

Choose the correct answer from the options given below :




10/19/22, 8:03 AM Response Sheet

i =7 [UA & T8Y T [eeEd § 1 SH-%E 8 FuE-asen g9y 27

(A)  Tavm wgen UF A AW SS9 F AP HaEe

(B) Tl 379 1 s w991 @EA w1 FvE
(C) =M H w=EEE F G AT % O FEEE I A
(D)  Wioeagl 9Fi-1F FEl =+ =" ° =95

(E) 97 w991 99F g79 Fa i

Fi=1 om0 e O @ weE SwEE I g9 A

Options:-
(A). (B). (D) and (E) only %= (A), (B). (D) 317 (E)
" r
Option ID :- 9521,
(A). (B), (C) and (D) only a1 (A). (B). (C) =17 (D)
I
Option ID :- 9522,

_ (B).(C). (D) and (E) only Fae (B). (0). (D) #R (E)
Option ID :- 9523, '
. (A). (D) and (E) only a4 (A). (D) 37 (E)
Option ID :- 9524,

(B). (C). (D) and (E) only &= (B), (Q). (D) 31 (E)

14

Answer Given:- , Option ID : -9523

Question ID:- 2366

“Hospital administration may think that patients want better food. but patients may be more
concerned with nurse responsiveness”

Above statement pertains to which one of the following service zaps?

“ FEIATS WA GEAT 2 T B Sl G A 7, S S0 A8 S GEEiEdar F A Heed o

T FYA G e S HaTe § deiad 2 7

Options:-
. Gap between consumer expectation and management perception. ITHA] HAFREIA] 317 TEE T F HH HATH|
Option ID :- 9461,

Gap between management perception and service-quality specification.

TERA W1 W HaE Ee EE 6 e |
4

Option ID :- 9462,

Gap between service delivery and external communication. HET HUSAT AN AT qAA0 F HS HA |

Option ID :- 9463,

14
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] . ; ; 2 : = r SR T i
Gap between service-quality specifications and service dehivery,  H&1 TIECAT 0 AT HE HIS F HE AR |

Option ID :- 9464,

Answer Given:- Gap between management perception and service-guality specification.

TERE WY W a1 e e T T option ID : -9462

Question ID:- 2389
Which of the following construects hold true for research analysis and design?

(A) Research design is a framework for every stage of the collection and analvsis of data.

(B) The cholce hetween gualitative and guantitative methods In a research experiment

depends upon Cronbach alpha.
(C)  Experiments as source of data is not appropriate for a gualitative study.

(D) Plagarism is the failure of researcher to acknowledge the borrowed material in his/her

publication.

(E) Content Analvsis 15 a method commonly used In gualitative research to aid data

collection.
Choose the most appropriate answer from the options given below :
=1 5 & =R § F9A e Ereu vd (saEA 6 5ud 6 5 2 7

(A)  IOY AT FTHES F UEF T T HUEY AF (G = U a2 |

(B) TF WE VAW H OMGRF 7 TUHONCEE TS F =999 #AaF 959 (Cronbach Alpha) W
AT 217 7 |

(C) TP FSAEA % (o0 SRS h A 6 AN W AN 399 6 A A

(D) AT G 39 TEEE B IgEIUE ST F IeeE 91 A S5 G%eal 2 oA 5 JEeaE

=M 7

(E)  #vfi-Tagemwr vk ugla 2, THe w@e aEsaaa SAEs] 1 G920 F44 5 o0 qOeA® 9E 5 A
Einiel

S Too o feemedi ® W WA 09I ST 0 99 A

Options:-
(A). (B). (E)only === (A). (B). (E)
| |

Option ID :- 9553,
(B). (C). (D) only ==t (B). (C). (D)

| | 14
Option ID :- 9554,
(A), (C). (D). (Eyonly  #Fa (A). (C). (D). (E)

u 14
Option ID :- 9555,

(B). (E)only === (B). (E)
u ’

Option ID :- 9556,

14
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. (A). (C). (D). (E)only == (A). (C). (D). (E .
Answer Given:- ! e S claclag , Option ID : -9555

Question ID:- 2341
Answer the correct material usage variance from the information given below :

Standard material cost for manufacturing 1000 units of an output is 400 kgs of material
at R=, 2,50 per kg. When 2000 units are produced. it 1s found that actual consumption was of
825 kzs material at a price of Rs. 2.70 per kg. :

A W FEAT E EE ST S W S S

1000 gz Fearg T = fore gree gmefi =vra 2,50 599 uid e 61 o ° 400 B 2| 2000 32
F IIEA W OUE A9 & 7 anAE® 39Ee 2.70 #99 WiE L. & w7 g 825 R W

Options:-
. Rs. 67.50 Favourable  67.50 399 3 %s
Option ID :- 9361,
. Bs. 67.50 Adverse 67.50 I Wi
Option ID :- 9362, _
_ Rs. 62,50 Favourable 62.50 ¥ FTFS
Option ID :- 9363,
Rs. 62,50 Adverse  62.50 793 1iH F

14
Option ID :- 9364,
Rs. 67.50 Favourable  67.50 09 3%e , Option ID : -9361

4

14

14

Answer Given:-

Question ID:- 2339

A spot sale of a currency combined with a forward repurchase of the zame currency
1z called which one of the following?

et T i weE T SR e f S g A aE W wiE W AeieE 5 3 w0 e e A

Options:-
. Forex swap T=geft g1 SAeAT-a=e
Option ID :- 9353,

Swap rate  FEeT-mEAl

4

Option ID :- 9354,
. Forward rate ELEE
Option ID :- 9355,

Spot rate B i
u ’
Option ID :- 9356,
Answer Given:- SWAPTate ST T option ID : -9354

14

14

Question ID:- 2362
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Under which one of the following the Basel framework places restrictions on participation by
banks in system-wide credit booms with the aim of reducing their losses 1n credit bust?

= 4 O Tro vw O 90e 2 F 99, ariEr W A 26 Fe2 A 4 39F O R URHE F AR F WY
T ST i IEI WA o A A

Options:-

Catastrophic Reserve Capital =m0 AT LEl
u ’
Option ID :- 9445,

Counterevclical Capital Buffer 32 SEEE el i
Option ID :- 9446,

Deferred Capital i 9=
u R 4
Option ID :- 9447,

Conservative Preference Capital Wit #ifame g
Option ID :- 9448,
Answer Given:- Countercyclical Capital Buffer 57T AT, Option ID : -9446

14

Question ID:- 2358

Which one of the followIng 1s not an advantage of crganization structure by territory?

A HE S 1 AEEEE § 8 FA - U @19 A8 2

Options:-
Malkes control easy for top management T T A T S A e
Option ID :- 9429,
Places responsibility at a lower level eI T W T E
n
Option ID :- 9430,
Improves coordination in a region TF HF-Ta9m § §9=a § Ezeins A E |
Option ID :- 9431,
Takes advantage of economies of local operations  THE A i SEAT T AT T FE

Option ID :- 9432,

. Takes advantage of economies of loeal operations T T = S T T O Fa
Answer Given:- & N i J .

Option ID : -9432

4

14

14

4

Question ID:- 2391
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From which of the following. employees derive authority?
(A) Position

(B) Experience

(C) Moral worth

(D)  Past service

(E)  Imtelligence

Choose the most appropriate answer from the options given below :

f ol S D T m A W 1_”{,_ 7 e
[FETEPEd H H TERAH A0 R/ TR 97 S4G1 5 0

(A) T@=
By #IWa
(C) HfFw g

(D) 97 FeAA T

(E) T

H fou 7w fehedt 0 O BeH IO I 99T A

Options:-
(A). (B)only === (A). (B)

u ’
Option ID :- 9561,

(A). (E) only a1 (A). (E)
L ’

Option ID :- 9562,
(B). (C). (Eyonly == (B). (C). (E)

u ’

Option ID :- 9563,
(A) (B), (C). (D), (E)  (A). (B). (C). (D). (E)
4

Option ID :- 9564,

(A} (B), (C) (D), (E)

Answer Given:- (&), (B). (€. (D). (E) option ID : -9564

Question ID:- 2374

Arm's length price computation method under 92 (C) of the Income Tax Act, 1961 does not
include which one of the following?
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AEE A, 1961 #1491 92(C) F 9E AT o1F HIHd 9 TOnE] [AEEngd 5 9 R 9me T8

Options:-
. Comparable uncontrolled price T A ,
Option ID :- 9493,

Transaction net margin 979 [:Tbﬂﬁﬁm} [EEERIE|

I

Option ID :- 9494,

Resale price T Figa

4

Option ID :- 9495,

Slum sale price method =g fa# Fmd 924

Option ID :- 9496,
Slum sale price methoed =3 =1 FET ‘1?:1{?1 , Option ID : -9496

14

Answer Given:-

Question ID:- 2402

Match Tist I with Tist IT :

List I—Ind AS List II — Topic
(A) Imd AS1 {I) Income Taxes
(B) Ind AS12 (IT) Related Party Disclosures
(C) Ind AS 24 (III} Intangible Assets
(D) Ind AS 38 (IV) Presentation of Financial Statements

Chooze the correct answer from the options given below:

Tl 1% A1 el 11 1 Wet i |

g l-AE w v A o= 11 - T3
(A) ssTegl (I e
(B) szuug 12 (II) ==tas 94 T
(C) T=vom24 (IIT) == afrEar
(D) == 7wuA 38 (IV) o faaent i wafq
AU R T = e e o e il e P e 0 1L
Options:-
{A)-(D). (B)-(II). (C)-(IID). (D)-(IV)
u ’

Option ID :- 9605,
(A-IV), (B)-(D. (O-ID. (D)<

Option ID :- 9606,
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(A -(IV), (B)-(IIT). (C)-(II). (Dy-(D)

Option ID :- 9607,
(A)-(IT. (By-(IV), (C)-(D). (D)-(I1T)

u 4

Option ID :- 9608,

14

Answer Given:- (A)-(IV), (B)-(IIT). (C)-(II). (D)-(D) , Option ID : -9607

Question ID:- 2408

Mateh List I with Tast IT ;

List I — Promotional Campaizn List II — Company
(4) # StayStrongMoms (I} Pepsico India
(B) #JeetEKiOre (I} Hindustan Uniliver (HUL)
(C) # Lets unstereotypelndia (IIT) Indian Tobacco Company (ITC)
(D) # Freedomtolove (IV) PBrooke Bond India

Choose the correct answer from the options given below:

Tt I — s T 1T — e
(A) #wwErET (I) i S
(B) # Hahram (D) Te=pam ghetar (v g ve)
(C) #erasFmaiaEEds=al (III) =T 2rsip ot (3772 21 i)
(D) #Fr=mzea (IV) =% =S g
5u 10 Tawea @ 9 WA 390 B =G I
Options:-
(A)-(TIT). (B)-(T). (C)-(IV). (D)-(IT)
u ’

Option ID :- 9629,
(A)-(I), (B)-«(IV), (C)~(I). (D)-(I11)

Option ID :- 9630,
(A)-(IT). (B)-(I), (C)-(III}). (D)-(IV)

Option ID :- 9631,
(A)-1L), (B)-(IIT), (C)-(TV). (D)-(IL)

Option ID :- 9632,
(A)-(IT), (B)-(L), (C)-(III). (D)}-(IV) , Option ID : -9631

4

14

14

Answer Given:-

Question ID:- 2337
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Which one of the following is a Trade related entry mode in international markets?

HATEnEa § H $iA1 A8 aTan § =9EE SeH 5= 6 =g 2 ¢

Options:-

. Management Contract waeg =7

Option ID :- 9345, ’
Internaticnal Licensing AW FITH ,

Option ID :- 9346,

. International Leasing FATZE T

Option ID :- 9347,

. Portfolio Investments  WI2ifesat a1

Option ID :- 9348, ,

International Licensing AT AT , Option ID : -9346

14

Answer Given:-

Question ID:- 2397

Which of the following are essentially anti-competetive agreements as per the Competition
Act, 2002 in India?

(4)  Exclusive distribution agreement
{B) Resale price maintenance

() Exclusive supply agresment

(D) Non-compete agreement

(E)  Tie-in agreement

Choose the eorrect answer from the options given below :

TieEEl A, 2002 F ATHE GUG § EIAiEd 8 3 F AR -0 gasi § 7

i
(A) TR =0 HEEHAE

(B) T T e A
(C)  THIa® A AEE
(I T —TiaEg] FE

(E)  2T=-=4 gEaia

4 150 T TRl § | HE S 1 999 A0

Options:-
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(A). (B) and (C) only  F== (A). (B) 57 (C)

- 4
Option ID :- 9585,
(C). (D) and (E) only 9% (C). (D) #1 (E)

14

Option ID :- 9586,
(4). (B). (C) and D) only s (A). (B). (C) =7 (D)
14

| |
Option ID :- 9587,
(A), (B). (C) and (E) only  #aw (A), (B), (C) it (E)

b ’

Option ID :- 9588,

- [ ) B T -l. ol (&), = -* -:'FnT -
Answer Given:- (A). (B). (C) and (E) only a7 (A). (B). (0) (E) , Option ID : -9588

Question ID:- 2406

Match Tist I with List IT :

List I — Personality Factor List IT — Bipolayr Dimension
(A) Warmth (I} Imaginative vs practical
(B) Abstractedness (II) Controlled vs casual
(C) Openness to change (III} Outgoing vs reserved
(D) Perfectionism (IV) Experimental vs conservative

Chooze the correct answer from the options given below:

gt I |rg g 11 1 He il |

T I —=afaed w0 T 11 - Tp-ya s
(&) IR Iy FeaamEie 591" =EEE
(B) AT (IIy Tt 7 saaaE
(C) === 7q T (IIT) TH=FEr 5AW
(D) gl (IV) W=IFTR W =ieam)

2o fTmem 1§ Tl 3 W 9E S

Options:-
(AN (I, (Bi-(D. (C)-(IN). (D)D)

Option ID :- 9621,
(A)-(IOII). (By-(I). (CH-(IV), (D)-(II)

Option ID :- 9622,
(A)-(I), (BY-(IV). (C)-(I1I). (D)-(II)

4
Option ID :- 9623,
(A)-(IID). (B)-(IL). (C)-(IV). (D)-(D)

14

14

14
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Option ID :- 9624,

(A)-(TOID). (By-(I). (C)-(IV), (D)-(IT)

Answer Given:- , Option ID : -9622

Question ID:- 2371

Which one of the following 1s not valid as per the Limited Liability Partnership Act, 2008 ?
Hifem w1 wEArT AfEE 2008 % AR At 5 8 FH-9 T a9 5 E 7

Options:-

LLP shall maintain 1ts books of accounts on double entrv system and on cash or
. accrual basis.

US| U 0 S o T H S TEE T S TS A 39 e e S = | ]
Option ID :- 9481,
LLF shall prepare a Statement of Account and Solvency for each financial vear.
Option ID :- 9482,
Every LLP zhall file an annual return with the Registrar of Companies

I
Option ID :- 9483,

Everv LLP is a separate legal entitv independent of 1ts partners,
| |

WA UF U 91 39 HIEOE § A 6 99 98 5 F
4
Option ID :- 9484,
Answer Given:- Every LLP shall file an annual return with the Regizstrar of Companies

T e Ue U1 Ul o S % Te U Al e g e | , Option ID : -9483

Question ID:- 2386
Which are the major factors that lead to capital rationing?
{A)  Imperfection of capital market.
(B) Reluctance to broaden the equity share-hase for the fear of losing contral.
(€ Inability to manage.
(D)  Deficiencies in market information which might affeet the availability of capital

(E)  Efficiency of Capital Market.

Chooze the correct answer from the options given below :
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Frefates 9 3 fF-fF wog = 9 T e 2 A7
(A i = F s
(B) T WM % A A SfEd o ATIR F WS FH F UG A=

(C)  wEeF & FEmA

(D) STAW AT i FHET A1 o1 1 SUeTeal Hl GHIEa $ A 8

(E) I3 5ran = FEETE

BRI S E e e B i e E e LR AR T B 0 | 1

Options:-
(A). (B). D) only == (A), (B) 311 (D)
4

Option ID :- 9541,

(C). (D). (E) only == (C). (D) 7 (E)
u /4

Option ID :- 9542,
(A). (B). (O), (E) only ==t (A). (B). (C) =T (E)

n
Option ID :- 9543,
(A). (B). (C). (Dyenly F& (A). (B). (C) 1 (D)

14
Option ID :- 9544,
(AL (B). (C), (E)only  #Fa=t (A). (B). (C) w7 (E) , Option ID : -9543

14

Answer Given:-

Question ID:- 2410

Mateh List T with List I :

List I — Income Tax Dispesition List IT — Particular/Section
(4) Donation to National Defence Fund (I)  Section 140 (4)
(B) Hedging of Tax (IT) Tax Management

(C) Compliance with Lezal Formalities (IIT) Tax Avoidance

(I Permanent Account Number (FAN) (IV) 100% Deduction

Choose the correct answer from the options given below:
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T 1 =17 5=t 11 1 T i |

= I — seren et fFar =1 I G i
(A) TP TN E 5 () = 140 (m)
(B) =7 =1 e (IT) =7 e
(C) AT ST F ST (IIT) =7
(D) FAT T W= () (IV)  100% FH

&n T T H A 9E I R 9EE e

Options:-
(A)-(IIT), (B)-(I1), (C)~(T), (D)-(IV)
n

Option ID :- 9637,
{A)-(IV), (B)-(I1IT), (C)-(IT}, (DD

Option ID :- 9638,
(A)-(IT). (B)-(I), (C)-(III). (D)-(IV)

[ | 14
Option ID :- 9639,
(A)-(T). (B)-(IV), (C)-(IL), (D)-(11I)

Option ID :- 9640,
(A)-(IV), (B)=(I1D), (Cy-(II), (D3-(D)

14

4

Answer Given:- , Option ID : -9638

Question ID:- 2377
Why do Central banlks intervene to affect exchange rates?
(A) To influence domestic production
iB)  Toinfluence trade flows
(C)  Toinfluence domestic interest rates
(D)  Toinject hguidity in domestic markets

(E)  To smoothen fluctuations in exchange rates.

Choose the most appropriate answer from the options given below :
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Tt =2 =1 wnfam w6 T =it A meag w1 F A
(A) T O F TS F

(C) o= =T &7 TEE A F e

(D) Wi STSF | Ul A 992 A F e

B Fifa i s @ A

= ToE T {aRel § W HEH S99 R 99 i

Options:-
(A). (B) and (C) only =4 (A). (B) 57 (O)

Option ID :- 9505,
(C). (D) and (E) only  ==+7 (C). (D) 31 (E)
u o
Option ID :- 9506,
(B). (C) and (D) only  F== (B). (C) 37 (D)

u ’

Option ID :- 9507,
(A). (B) and (E) only == (A). (B) 311 (E)

Option ID :- 9508,

. (A), (B) and (E) only Fg= .
Answer Given:- i< (A). (B) SR (E) Option ID : -9508

14

14

Question ID:- 2370

If the information sought has been supplied by third party or is treated as confidential by that
third party. the third party must give a representation before the PIO in reply to the notice
1zsued to it within how many days from the date of receipt of such notice?

Az Wil TS FEAT 3 94 G U5 FI O B S9AT A9 Uk G 38 TIIHE 5 T A, A1 A 9 g 38
A T T qien % I 0 0 AR A F G994 UF Uideed UHT MR AN % T R % T mdl  Hiee
=41 =T 7

Options:-
bdays 5T
u ’
Option ID :- 9477,
15days 15TH
u ’
Option ID :- 9478,
10days 10T
4
Option ID :- 9479,

Tdays 71
| |

14
Option ID :- 9480,
Answer Given:- 10425 107 option ID : -9479
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Question ID:- 2376

Which of the following factors favour product standardization in the international markets?

(A)  High cost of adaptation.

(B)  Varations in conditions of use.

() Countrv of origin effect.

(D) Economiesin R & D.

(E) Differences in technical standards.

Choose the most appropriate answer from the options given helow :

Fefahad 8 3 F1 O FEF SIS F A6 5 309% AR F WA 6 A

(A) T il 3eg oA

(B)  39EF T § Eraea
(C)  3FFH-3 T

(D)  FEAETF F7 WY R e
(E) TR G E A

T o T TR § T HeH IUE 3 99T A

Options:-
(A) and (E) only  #a# (A) #0 (E)
14

Option ID :- 9501,
(A), (C) and (D) only T (A). (C) 317 (D)

I
Option ID :- 9502,
(A), (B). (C) and (D) only  Fa= (A), (B). (C) 1 (D)

Option ID :- 9503,
() and (D) only == (C) =1 (D)

u ’

Option ID :- 9504,

. (A), (B), (C) and (D) only == s .
Answer Given:- : (&) (B (O FT D) gption ID : -9503

14

Question ID:- 2351

Banker sale of a mortgage portfolio by setting up a morteage pass-through securities i1s an
example of :

TF AT (TH ) TAGET 1 TATA G A T i e et 8 8 e e 2 7

Options:-

. Credit enhancement WE!{T}'

Option ID :- 9401,
Unbundliing fa-a===

Option ID :- 9402,
Derivatives =74 (=fam=)

14

4

14
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Option ID :- 9403,
Securitisation ‘Aﬁ'ﬂ'ﬁﬂ""'ﬂ
14

Option ID :- 9404,

- : P et
Derivatives  =d9-1 | =fEre )

Answer Given:- , Option ID : -9403

Question ID:- 2403

Mateh List I with List 1T ;

List I— Nature of goods List I — Income Elasticity (Ei) of demand
(A) Normal goods (I)  Eiis greater than one
(B} Inferior goods (IT) Eiis greater than zero
(C) Luxury goods (ITI} Eiis between zero and one
iD) Necessities (IV) Eiis less than zero

Choose the correct answer from the options given below:

=1 T 9 = 11 =1 =7 =i |

T I — g i T Tt I — =7 i 33/ = (3 37E)
(A)  HH T (M % =0 uF F1 A9 =51 7 |
(B) =iz ==n (II) 3 =075 =% =i 79807 531 7 |
(C) Taeriman 1 =50, (IIT) 5. 3% 9= 37 0% & 957 |
(D)  HETFFA (IV) 3. AE g A Fa 7|

fou Tu faed] | 4 HE I =S S

Options:-
(A)-(I1}, (B)-(IV), (Ci-(L), (D)-(III)

u ’
Option ID :- 9609,
(A)-(TIT). (B)-(I). (C)-(TV), (D)y-(IIy

Option ID :- 9610,
(A)-(IT), (B)-(I), (C)-(IIT), (DH-(IV)

Option ID :- 9611,
(A)-(I). (B)-(IID). (C)-(II). (D)-(IV)

Option ID :- 9612,
(A)-(ITIT), (B)y-(I). (C)-(IV). (Dy-(1L)

14

14

Answer Given:- , Option ID : -9610

Question ID:- 2353

Which one of the following 1s not an asswmption of simple linear regression model?
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-~

FEtAEd § | - W 5 aE AT 515 S AR 2 7

Options:-
The set of expected values of the dependent variable v for given values of independent
. variable x. are normally distributed.
WA W ox % 15U T HE F "9 UNEd =y F AWiad qH % O F Al |ieE 1w
Einind
Option ID :- 9409,
The standard deviation and variance of expected values of the dependent variable

about the regression line are constant for all values of the independent vamable x for
the set of observations in a sample.

14

TATEA TE F AF § UIEE 99 6 99 [GEed 96 9979 99 # =, UF 20 8 0ET & 92 &
o w3 = x % ot wn & ey | 2 e A
Option ID :- 9410,
The dependent variable ¥ is a continuous random variable. TI%" =% v ™% Taq QEW = E | ]
Option ID :- 9411,
The errors in the value of ¥ are identical in successive observations. ¥ & T H AR ATHOE TA A HHET w6 7 |

Option ID :- 9412,

: 1calin s sive observations.
Answer Given:- The errors in the value of ¥ are 1dentical 1n succeszive ohservations

T O T T2 FAFEF TA § TEET BT & |
’ ke , Option ID : -9412

Question ID:- 2375

Tax holiday under the Income Tax Act 1951 has been used 1n the context of which one of the
following?

HEFT AEgE, 1961 F S0 % T28 T FOaEE F SR Fa 5 m 2 7

Options:-

_ Section80IA HW S0 FET

Option ID :- 9497,
Section 80D 9T 20 =

Option ID :- 9498,
Section 80 CCC  omr 80 =i = = ]

Option ID :- 9499,
Section 10(5) =mT 10(5) ;

Option ID :- 9500,

Answer Given:- Section 1005 =71 10(3) gption ID : -9500

14

14

Question ID:- 2424
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Given below are two statements : One is labelled as Assertion (A) and the ather 1= labelled as

Beason (B) :

Assertion (4) :  Substitution effect 1= uzually much larger than the income effect.
Reason (R) : Consumer usually spends only a small portion of her/his income on any one
commodity.

In the light of the above Statements. choose the correct answer from the options given below :

4= 2 ¥ 72U o F ; uF suEeH (Assertion A) F E9 H TEnEd 2 Al = THE # #10 (Reason R) %
=Y
AFAT (A) TIAEHTTH THE A 3 F THE H A S 2 E |
= = = s & T r e, i P
TR F4E F ATARE §, A9 B [GEeq § | HeE 2999 9 1 999 i
Options:-

Both (A) and (R) are true and (R) 1= the correct explanation of (4)
(A) 31T (R) o1 27 & 17 (R). (A) =1 951 =97z 7 |
I
Option ID :- 9693,
Both (4) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 37 (R) 1 o7 2, =it (R). (A) = =#1 = 78 2 |
Option ID :- 9694,
(A) 1s true but (R)1s false (A)&H 7, ©F (R) #9=1 2|
14
Option ID :- 9695,
(A) is false but (R) is true  (A) 56 2. TF#A (R) 74 |

4
Option ID :- 9696,

Both (A) and (R) are true and (R) 1= the correct explanation of (A)

14

Answer Given:-

(A) 37 (R) 591 &4 = 311 (R). (A) &1 =& =men 7 | , Option ID : -9693

Question ID:- 2356

Which one of the following tools is not used for forecasting personnel needs (Labour Demand)
by an organization?

Tl T2 G I AR A A B FEenEs O T e S0 T4 A e a

Options:-
Trend Analysis 99 BNk
u - ’
Option ID :- 9421,
Markov Analysis  HF(E @70
14
Option ID :- 9422,
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. Ratio Analysis  #HI9W Targegor
Option ID :- 9423,

Scatter Plot WA 377e0@

Option ID :- 9424,
Ratio Analysis 310 T

14

14

Answer Given:- , Option ID : -9423

Question ID:- 2396

Who among the following are indentified as the Key managerial personnel in the Indian
Companies Act, 20137

(A)  Chief Executive Officer
(B}  Whole Time Director
(C) Company Secretary
(D) Chief Risk Officer

(E) Manager

Choose the most appropriate answer from the options given below :

i wuA AfafEE, 2013 ° FEfeiEs § 3 F6 5 TEehE wies = H A Wb A
(&) FE T At

(B) Rt feern

(C) =91 gra

(D) =R A A

(E) EERAET

e fam T et | @ HeE IO I R WA R

Options:-
(A). (B) and (D) only Fa= (A), (B) =17 (D)

[ ] 14
Option ID :- 9581,

{A) and (B) only = (A) W (B) ]
Option ID :- 9582,
_ (A).(B).(C) and (D) only = (A). (B). (C) 37 (D)

14

Option ID :- 9583,

(A). (B). (C) and (E) only & (A), (B), (C) 3117 (E)

b 4

Option ID :- 9584,
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Answer Given;- (A and (Bjonly FaF (A) ¥ (B)  option ID : -9582

Question ID:- 2365

In order to maintain its market share. a market follower can employ :

AH ATAN % 70 S U5 % B 0 ST e (FEE) T R e

Options:-

Counter feiting strategy  F2#7 TWHIH
[ ] 14
Option ID :- 9457,

Specialization strategy  fafergErT OIS

4

Option ID :- 9458,

Counter offensive strategy  Tra@=y 701
[ ] 14
Option ID :- 9459,

Preemptive strategy  Ja@araF (Muieaiza) moEy

I

Option ID :- 9460,
Answer Given:- C[reemptivestrategy qeEmArE (fufEriza) moHiy , Option ID : -9460

(A)

(B}

(<)

(D)

(E)

Question ID:- 2399

Under Indian Income Tax Act. in order to claim deduction of interest on home loan for house

property. which of the following things need to be taken care of 7

The home loan must be used for the purchase/construction of the house property.
The loan must be taken on or after 1=t April. 2019.
The amount of loan must be used within 10 days firom the date of loan taken.

The purchase or construction must be completed within 3 vears from the end of

Finaneial Year in which the loan was taken.

The rate of interest on loan cannot exceed 22%.

Choose the most appropriate answer from the options given below ;
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N S AEHAE ® 9 TR w39 F W sEE e W s f F R A R #E 9

Tr=AtetEs T SE1 R S A B

(A)  FEEE T F A AT F F TR WG A0 F e Eg F A
(B) =1 1 370w, 2019 =l 24l 34 &5 o4 =

(C) = 1 71t o oA A AvE F 10 T % e s e a

(D)  7Eie WY FE, O T S a1 oo™ 99 | 5 99 % Hie e 2 |

(E) 0w W ==47a F1 5% 22% ° #AwF 791 7 a9k |

4= fou v faweai | @ mEn 30w 3w 99 il

Options:-
(A), (B), (D) onlv Fa= (A). (B). (D)

Option ID :- 9593,
(A). (C). (D). (B)only &&= (A). (C). (D). (E)

Option ID :- 9594,
(B). (C). (D). (E) only == (B). (C). (D). (E)
14

14

Option ID :- 9595,

(A) and (D) only === (A) 3l (D)
[ ] 4
Option ID :- 9596,

(A), (B), (D) only Fa4 (A). (B). (D)

Answer Given:- , Option ID : -9593

Question ID:- 2412

What will be the sequence of steps involved in ‘NWet Benefit Model of Human Resource
Accounting?

(A)  The gross value of services to be rendered in future by the emplovee In their individual
as well as their collective capacity 1s determined.

(B) The excess of the value of future human resources over the value of future payments 1s
ascertained.

(C) The present value of the net benefit 1= determined by applving a pre-determined
discount rate.

(D) The value of future payments to the emplovees 1s determined.

(E) The amount calculated under '‘C’ will be the walue of human resources to the

organisation.

Choose the correct sequence from the options given below :
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A HETHA S F A2 SHE2 5isA 0 9 SAEEG FEH1 1 96 wE F= B ¢

(A)  FHEIET GE SAEAE AW WEEE 9 9 9f= 5 R TH T @906 T T god i HaEm B
Eini A

B v F fre R A e B ge § e wem G & skl g W sl e
EiiA

(C) % Y& TATE F22-07 =] # e AT F G99 ged 1 e w7

(D) FEEIE T OAEE § A A A A e

(E) 'C'F W aiepfaa 19 3 2 SEeE w5 g 50
Ton T T | 3 R I =S A

Options:-
(A). (D). (B). (C). (E)

4

Option ID :- 9645,
(A). (B). (C). (D). (E)

14
Option ID :- 9646,
(A}, (C). (D). (B). (E)

Option ID :- 9647,
(B). (AL (Chr (D). (E)

Option ID :- 9648,
Answer Given:- (4). (C). (D). (B): (E) , Option ID : -9647

14

14

Question ID:- 2394
Which of the following are the main platforms for social media?
(A)  Search Engines
(Bl Online communities and forums
(C) Blozs
(D) Social Networks

iE) Web 1.0

Choose the correct answer from the options given below :
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FreietEs § ° FE-FE Jee dien F T O 2

(A) == EE

(B)  HeET A Ud FHA

(C)  mrEH

(D) =9 TZTEE

(E) =% 1.0

= Tz o e § @ wF 5w = A
Options:-

(B). (C) and (D) only  Faw (B). (C) ¥ (D)

Option ID :- 9573,
== (B) # (D)

14

(B) and (D) only

Option ID :- 9574,
(B). (C). (D) and (E) only

Option ID :- 9575,
(A), (B), (C) and (D) only
Option ID :- 9576,

Answer Given;- - (B). (C)and (D) only

14

Response Sheet

Fae (B), (C), (D) #17 (E)
4

a9 (A). (B), (C) # (D)

14

Fae (A). (B). (C) #AFR (D) , Option ID : -9576

Subject : 8_11_SH1_PARTB_S1

Question ID:- 2426




10/19/22, 8:03 AM Response Sheet

Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of cryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the proposed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord. paid the tax and interest on the deduction they have elaimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction to decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually force blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
Tules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI} is ready with its digital currency. Fiat
digital eurrencies. which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.

qFa AR A & AETE § 5eAl 3 36 AeE 6 A 2 T aw 2w (F) T a9 e (seiee 95
H TEATH F A E F F9 0 I FA0 | A # uF Fr s (992) F e 9 EE A
(v wE F1=) i TR @ B A A T F e SE S F SaEEd S 5 T B 599
o0 Fawt L ATHE AR 2 | WA = Ea o S 9 30% H wEiEe 5 # F e S S g
IR B 2l i et L e = e e i s L e P R o e ot R o e e o e = e
T 1% F TEAES o H W oA B | 26 BT S W Al AR = ST T A0 H Ay
=TS F1 WA FA1 7541 7 |

Bt el e | B e A i e e b e et - 8 el e e (e L k) B = D B i e e £
W T S O TR S UH 2T A § @ a9 TEEE F2ad ST g7 m*rﬂnﬁ AT
i faell B F ARGE = A9 H W w5 S | IEmm 4 TEEH Al £ 7 T ] 3o =
T F T F SEE A mmmmwmmmﬁmmmu
AT T FE TR g AT B TS | HE O s F-0EA w5 IAY 2 9 e #OA-an
FW (F A =) FEE F ETes e " g e w6 I e (qfem) de-z-de m=n

T HAEET | (S W A 599 A B | TE T A R T unas e sma (R
WW}W}FWTWWW ﬁwmﬁmﬁﬂ?ﬂﬁwmdbwmw
TP FE S | U HAE (1F92) TSHeE aiEea § Gees A7 w5ies da Aias THEl 7 A
T 97 wETaaEl 7 T 99 90 B TG (H9) wiZa o IS9P T T 0 E | 6 UHE Il sEde
TE W1 3 g2 A T T gl (FET) AT et § B SaE T an a8
ST | 97 q51 9= R

Which one of the following is done by the Digital Currency Regulatory Framework?
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F
af

Tesfizer ] (= gor) A= gr=ar g e 8 | B S A

Options:-

, Eventually force blockchain companies to operate from outside.
TATFEA FAAAT ] A H HAA: HE G 6 e sred |
Option ID :- 9701,

Attract users towards exchanges which are compliant with know-yvour-customer rules.

4

Option ID :- 9702,

Motivate the operators to operate outside the country. TTe=h F1 57 = & T FE-T=I=H 75 T0d F1| ]
Option ID :- 9703,

Promote underground peer to peer erypto platforms, H A3 Y-~ =] 2R H AR S

I
Option ID :- 9704,
Answer Given:- Eventually force blockchain companies to operate from outside.

T FAAA F A W'WWTWWWI, Option ID : -9701

Question ID:- 2430

Read the following passage and answer the question.

GOT has reaffirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from =sale of cryptos and non-fungible
tokens (NFTs). Every transfer of cryvpto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the proposed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord. paid the tax and interest on the deduction they have elaimed.

The inability to set off losses will skew the risk-rewsard profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction to decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually force blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
rules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimaey. The regulatory position
could become clearer once the Reserve Bank of India (RBI) is ready with its digital curreney. Fiat
digital eurrencies. which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.
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WA FURR A T 999 § H9aAl 3 $H ARE i T il E T w29 (F) T ageie (sHes w6
q Tzl % UiErE F =9 O I R0 | §9 @Al | U il uiEu (#E2) & a9 e a
FAT B A1 T F AT J BEETAA FA SN A Eel | SEH SR U - 2
(v wE F1=) i TR A B A ™ T [ S S F SAidias el 37 TR B 599 F
T 2l 1 FA TR 2 | W 2 GRET o S 7 30% 1 WEran o F S S w6 5
o W TS THTET A5 w0 T 4R US SHG 7 Sy 96 | (Seiee S6EE ¥ @y FE O | e W
FA 1% F TEANEA o7 H W oF 7 | 39 F I WOl SAEEEE = S e A S Ay

THE =4 G0 11 F1 G0 GEETE B =S E AHIE & R aErs TTEEE AT w0 meeE
B e A e o 1 1 o it e et o i o s e e M e A e 2 B e e 2o e L
S Eetf e o i i e 1 B B e e e e B e e e e e - et T e e L
T A T SEEE A G H ST SR wAEA A6 56 5 A e B 6 59
AT ST FHE TEIEE g AT 79 US| WAl A% Wi F-WIEA H S69 2 97 vEeas # 9-An
FZET (F 9 d1) Fanl F wEaes a8 @ oW S50 e e (qieE) fE-z-die =

AR Tl ) O W STET 98 FAId A5 S90T £ 1 90E AT ohi 391 JUaT ST g T
g EET S | vE mEE (TeaE) Tedes uimytear @ Tt s S gew stas wwE 2 s
AT T2 WETa9E 2 FEF 3 590 3 TS (F9) ©iZE T I A TH 9 2 | 53 TEE Fi SEE
TH 17 TAH T2 ] T A ° [Seee gae (FET) Fi dAariEs THEEie 3 #E s g An a6
HTET | FE g1 GE

Digital currency regulations will result into which one of the following?
== w00 g = 1 g 9 offe =7

Options:-

Scare digital currencies away. [Ssi2el FAEE] (A G50 ) ATAEd 7 T=ed H 57 7 S0 |
" - . ’
Option ID :- 9717,

Permit deduction of any expenditure other than the eost of acquisition for computation
of income,

A i T F T AR A W A 5 =5 w5 Fard] F FgE wen |
14
Option ID :- 9718,

Impoze Qenalties for tax payers who have claimed a deduction of surcharge and cess
from their taxable income.

=1 AT R E |
Option ID :- 9719,
Attract 30% tax on every transfer of crvpto asset.  TWed#h 2l IETIE & FAaw0 W 30% F 90 Eleaeaiauil

14
Option ID :- 9720,

Attract 30% tax on every transfer of crvpto asset.

Answer Given:-
T #E 9T ST W 30% W OUW AR 2

, Option ID : -9720

Question ID:- 2429
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Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of cryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the proposed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord. paid the tax and interest on the deduction they have elaimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction to decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually force blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
Tules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI} is ready with its digital currency. Fiat
digital eurrencies. which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.

qra #UFE A T AeTE § 5l | 38 AeE 6 T 6 2 T aw 2w (F) T a9 e s 95
H TEATH F A E F F9 0 I FA0 | A # uF Fr s (992) F e 9 EE A
(w1 wE Z19) =i TR d B A A™ O F (e SEE S F SdEd e 5 T B 59
o0 Fawt L ATHE AR 2 | WA = Ea o S 9 30% H wEiEe 5 # F e S S g
IR B 2l i et L e = e e i s L e P R o e ot R o e e o e = e
FA 1% F TEANGA o § W oF B | 29 F I W A ARE S e S0 e A
=TS F1 WA FA1 7541 7 |

B el e | B e A i e b e et - el e e e e L ke B = DA B e e £
W T S O TR S UH 2T A § @ a9 TEEE F2ad BT T m*rﬂnﬁ AT
1 faofi =1 F1 awdE = A9 = w5 A | 5~41'|‘-F'Hr¢y+ Tl 7 T #1230 A
W I ] SR A S SR S A S S G e Jm T FH F ST
AT T FE TR g AT B TS | HE O s F-0EA w5 IAY 2 9 e #OA-an
FW (F A =) FEE F ETes e " g e w6 I e (qfem) de-z-de m=n

T HAEET | (S W A 599 A B | TE T A R T unas e sma (R
WW}WFWTWWW mwm—fﬁﬁmmmwﬂwmummw
TP FE S | U HAE (1F92) TSHeE aiEea § Gees A7 w5ies da Aias THEl 7 A
T 92 wETauEl 7 T 99 90 B TG (H9) wiZa o IS9P T FH 0 E | S8 WEE il e
TS L A2 e T 2 e e 2 B B et 6 = M o o 1 e 1 o oo o B M 1 a1 B L o
ST | 97 q51 9= R
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Given below are two statements :

StatementI: Non-fungible tokens cannot be splitted.

Statement IT: Non-fungible tokens can be replicated at convenience.

In the light of the above Statements. choose the most appropriate answer from the options
ziven below :

fRaFE T m? .
F (I):  FH Foga 208 (T TF 21) =9 96 A g
FA (1) :  FA-Fioae 298 1 GEGHAR TiFa a1 1 T 7 |

TR HUA F A 5, H= g 0 e 0 W wed I9EE 3 6 99 R

Options:-

Both Statement I and Statement II ave corvect  =9A (I) 377 (I 51 55 7 | )
Option ID :- 9713,

Both Statement I and Statement IT are incorrect  F29 (1) 217 (IT) T'T—ﬂ T R | :
Option ID :- 9714,

Statement I is correct but Statement IT is incorrect =4+ (I) F71 7. 754 Ha9 (ID 7= = | i
Option ID :- 9715,

Statement I is incorrect but Statement I is corvect A (I) 7a 7, =% Fem (ID W71 7 | !

Option ID :- 9716,

Answer Given:- Statement I is correct but Statement ITis incorrect F3F (1) T 7. =4 94 (II) 7= = |

Option ID : -9715

Question ID:- 2428

Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another. No deduection is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of cryptos and non-fungihle
tokens (WNFTs). Every transfer of erypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the proposed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord. paid the tax and interest on the deduction they have elaimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction to decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually force blockchain
companies and the talent they hire to operate outside the counftry. To the extent that the
proposed tax regime drives users from exchanges compliant with kmow-your-customer (KYC)
rules towards underground peer-to-peer platforms, deterrence would he diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimaecy. The regulatory position
could become clearer onece the Reserve Bank of India (RBI) is ready with its digital currenecy. Fiat
digital eurrencies. which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it;
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.
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WA FURR A T 999 § H9aAl 3 $H ARE i T il E T w29 (F) T ageie (sHes w6
q Tzl % UiErE F =9 O I R0 | §9 @Al | U il uiEu (#E2) & a9 e a
FAT B A1 T F AT J BEETAA FA SN A Eel | SEH SR U - 2
(v wE F1=) i TR A B A ™ T [ S S F SAidias el 37 TR B 599 F
T 2l 1 FA TR 2 | W 2 GRET o S 7 30% 1 WEran o F S S w6 5
o W TS THTET A5 w0 T 4R US SHG 7 Sy 96 | (Seiee S6EE ¥ @y FE O | e W
FA 1% F TEANEA o7 H W oF 7 | 39 F I WOl SAEEEE = S e A S Ay

THE =4 G0 11 F1 G0 GEETE B =S E AHIE & R aErs TTEEE AT w0 meeE
wF 1 AT W R THE U 219 WAl § S S TEEE 2aE G g [SEe i are
S Eetf e o i i e 1 B B e e e e B e e e e e - et T e e L

T A T SEEE A G H ST SR wAEA A6 56 5 A e B 6 59
HTET A S A0 S B US| WEl A% WElEs H-UeEA 1 999 7 98 gEeae # 5-A0

L

2 (F 9 d1) FEE F e s 8 @ oW 66 3 e (9hE) dem-g-die 3=

e HiEm A (S R W Hd S6E) A RS | TR T A E T uidAs tesies s (R
AR Tl ) O W STET 98 FAId A5 S90T £ 1 90E AT ohi 391 JUaT ST g T

v F S | vE waE (feae) Tedew uhmwtaa @ fafe din dihe e sfew vl = s
AT T2 WETa9E 2 FEF 3 590 3 TS (F9) ©iZE T I A TH 9 2 | 53 TEE Fi SEE
TH 17 TAH T2 ] T A ° [Seee gae (FET) Fi dAariEs THEEie 3 #E s g An a6
HTET | FE g1 GE

Government of India’s intent towards virtual dieital assets is which one of the following?

UTE TN H AL A (512 FH7E (Gdtash [SH2e 9Eeid) F 00 e 2 | FEE g 2

Options:-
. To promote speculation ¥ ATl AT oAl
Option ID :- 9709,

To be silent on speculation HEETH F TG AR ==
" r
Option ID :- 9710,

To discourage speculation HZATH 1 FATET T

4

Option ID :- 9711,

To stop speculation HEaTH! il T

14
Option ID :- 9712,
To stop speculation FE&TH! i THT

14

Answer Given:- , Option ID : -9712

Question ID:- 2427
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Read the following passage and answer the question.

GOI has reaffirmed its intent in amendments to the Finance Bill to use tax as a deterrent to
speculation in virtual digital assets. The amendments disallow losses on the sale of one crypto
asset to be set off against gains on another No deduction is permitted for any expenditure other
than the cost of acquisition for computation of income from sale of cryptos and non-fungible
tokens (NFTs). Every transfer of crypto assets will be taxed at the proposed 30% rate,
irrespective of whether they are a capital asset or not. Only the proposed 1% rate of tax deducted
at source will apply to transactions in digital assets. Penalties have been imposed for taxpayers
who have claimed a deduction of surcharge and cess from their taxable income, but have not, on
their own accord. paid the tax and interest on the deduction they have elaimed.

The inability to set off losses will skew the risk-reward profile of digital assets. and crypto
exchanges fear it could push trading activity bevond Indian jurisdiction to decentralized
exchanges and foreign platforms accessed through virtual private networks. The industry feels
not allowing tax deduction on the costs of mining cryptos will eventually force blockchain
companies and the talent they hire to operate outside the country. To the extent that the
proposed tax regime drives users from exchanges compliant with know-your-customer (KYC)
Tules towards underground peer-to-peer platforms, deterrence would be diluted.

Nirmala Sitharaman, in her statement while moving the amendments, has clarified the tax on
private digital assets does not indicate Gol's stance on their legitimacy. The regulatory position
could become clearer once the Reserve Bank of India (RBI} is ready with its digital currency. Fiat
digital eurrencies. which make transactions and monetary transmission more efficient. are
inevitable as the use of cash plateaus in several countries. Speculation, and a reflex to curb it
must not draw attention away from the inherent superiority of digital currencies. This is the
future of money.

qFa AR A & AETE § 5eAl 3 36 AeE 6 A 2 T aw 2w (F) T a9 e (seiee 95
H TEATH F A E F F9 0 I FA0 | A # uF Fr s (992) F e 9 EE A
(v wE F1=) i TR @ B A A T F e SE S F SaEEd S 5 T B 599
o0 Fawt L ATHE AR 2 | WA = Ea o S 9 30% H wEiEe 5 # F e S S g
IR B 2l i et L e = e e i s L e P R o e ot R o e e o e = e
T 1% F TEAES o H W oA B | 26 BT S W Al AR = ST T A0 H Ay
=TS F1 WA FA1 7541 7 |

Bt el e | B e A i e e b e et - 8 el e e (e L k) B = D B i e e £
W T S O TR S UH 2T A § @ a9 TEEE F2ad ST g7 m*rﬂnﬁ AT
i faell B F ARGE = A9 H W w5 S | IEmm 4 TEEH Al £ 7 T ] 3o =
T F T F SEE A mmmmwmmmﬁmmmu
AT T FE TR g AT B TS | HE O s F-0EA w5 IAY 2 9 e #OA-an
FW (F A =) FEE F ETes e " g e w6 I e (qfem) de-z-de m=n

T HAEET | (S W A 599 A B | TE T A R T unas e sma (R
WW}W}FWTWWW ﬁwmﬁmﬁﬂ?ﬂﬁwmdbwmw
TP FE S | U HAE (1F92) TSHeE aiEea § Gees A7 w5ies da Aias THEl 7 A
T 97 wETaaEl 7 T 99 90 B TG (H9) wiZa o IS9P T T 0 E | 6 UHE Il sEde
TE W1 3 g2 A T T gl (FET) AT et § B SaE T an a8
ST | 97 q51 9= R
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Reason (R) :

Assertion (A)

Reason (R) :

eiven below :

w®GH :

AHFIE (A)

7% (R)

Options:-

Answer Given:-
(A) 37 (R) 51 77 2 3% (R). (A) F1 5 =W=1 2| option ID : -9705

Response Sheet

Given below are two statements ! One 12 labelled as Assertion (A) and the other i 1abelled as

Crvpto exchanges fear that the new amendments could push trading
activity bevond Indian jurizdiction to decentralized exchanges.

The new amendments disallow losses on the sale of new crypto asset to be
set off against gains on another.

In the light of the above Statements. choose the most appropriate answer from the options

H 1 WU 50 T E ; UF HHHE (Assertion A)F =9 § fi@d 2 A1 580 39% F0W (Reason R) F

=1 Tl e =l 3 2 9 AU GeEE d St TiaiEig 9EEE SEies A
T STET T (STl WEEE 1 EY o O 7
U WA TS D GEG F BRI # F A wEE R e 9 6 S d

I FUA F OATACE §, A9 5 70 e 3§ 5eE I9EE 39 ) 99 A

. Both (A) and (R) arve correct and (R) 1s the correct explanation of (A)
(A) #1 (R) o1 =71 2 31 (R). (A) =1 581 = 7 | ]
Option ID :- 9705,
Both (4) and (R) are correct but (R) 12 NOT the corvect explanation of (A)
(A) = (R) o1 791 7, =19 (R). (A) =1 Tt ==mean 7= 7 |
4
Option ID :- 9706,
(A) is correct but (R) 1s not correct  (A) W81 =, &7 (R) 971 TH 2|
14
Option ID :- 9707,
(A) iz not correct but (R) is correct  (A) TFT 771 7, #FA (R) TA1 7|

Option ID :- 9708,

14

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

Subject : 8_11_SH1_PARTC_S1

Question ID:- 2433
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Read the given passage and answer the guestion.

Naik. AGM Materials, 1= fuming and fretting. He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. harely four months
after he took up his present assignment.

The wvear was 2021 when Naik quit the prestigzious SAIL plant at Vishakapatnam.
As a manager materials, Nailk enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's pricy approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materials. The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. desiznation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an crder by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up 1n the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the bill was not endorsed by Kamath. Kamath refused
to s1gn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumigated and cheated. A brief encounter with Kamath only aggravated the

problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to guit.
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What 1= the most ineffective in the orgamsation?
A § HEaF R = ¢

Options:-
Recruttment policy a7 =iid
Option ID :- 9729,
Selection policy  ==H Aia ]
Option ID :- 9730,
Induction programme  S{Er=T FTOHS

[ ] I
Option ID :- 9731,
Promotion policy ~ TEr=IA AT
14
Option ID :- 9732,

Answer Given:- PGuCHOR Programme =T , Option ID : -9731

Question ID:- 2434
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Read the given passage and answer the guestion.

Naik. AGM Materials, 1= fuming and fretting. He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. harely four months
after he took up his present assignment.

The wvear was 2021 when Naik quit the prestigzious SAIL plant at Vishakapatnam.
As a manager materials, Nailk enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's pricy approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materials. The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. desiznation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an crder by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up 1n the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the bill was not endorsed by Kamath. Kamath refused
to s1gn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumigated and cheated. A brief encounter with Kamath only aggravated the

problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to guit.
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The job of AGM materials is to
U S uE HE e R

Options:-

Place ovder  wm=w 51
Option ID :- 9733,

Receive material FTHH HHFT F1 ,
Option ID :- 9734,

Inspect material T A= = ,
Option ID :- 9735,
. Issue material  AHHT FHT FA
Option ID :- 9736,
Answer Given;- Flaceorder st o , Option ID : -9733
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Question ID:- 2435
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Read the given passage and answer the guestion.

Naik. AGM Materials, 1= fuming and fretting. He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. harely four months
after he took up his present assignment.

The wvear was 2021 when Naik quit the prestigious SAIL plant at Vishakapatnam.
As a manager materials, Nailk enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's pricy approval.

Naik joined a pulp-making plant located at Harithar in Karnatalka, as AGM Materials, The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. desiznation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an crder by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up 1n the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the bill was not endorsed by Kamath. Kamath refused
to s1gn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumigated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to guit.
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Given below are two statements :

StatementI: Mr. Naik's presumption that he could place an order for materials worth
R=.25 lakh was mght.

Statement II: Perks and reputation of the conglomerate were the reasons for Mr. Naik

joining the eucalyptus pulp malang company.

In the light of the above Statements. choose the most appropriate answer from the options

oven helow :

= =1 %A oo 3

w9 (I): o1 A% 1 7= g=Hunon "@E A 1% 95 25 o w9 a5 gl F e s g o an)

F4 (1D ; i 95F F IFed T s9H e & § F9 S FE F W dgE 1 g S
TiveAfeam 4|

FTAFE FA] F ATATE 6 A 50 G 5§ "6 I 390 F =9 i

Options:-
Both Statement I and Statement IT are correct  F47 (I) 3% (II) 91 H21 7 |

n
Option ID :- 9737,
Both Statement I and Statement IT are incorvect  =9A (D) =11 (1) =91 &7 951 2 |

4

14




10/19/22, 8:03 AM Response Sheet
Option ID :- 9738,
. Statement I is correct but Statement II is incorrect F29 (I) WAl 2, wi#a e (II) 7w # |
Option ID :- 9739,
. Statement I is incorvect but Statement II is correct  F29 (1) Tod 7, == = (IT) TH 7 |
Option ID :- 9740,

Statement I iz incorrect but Statement IT is correct %4 () et 2, =i = (ID) WA 2 |

Answer Given:- :
Option ID : -9740

14

14

Question ID:- 2431

Read the given passage and answer the question.

Naik. AGM Materials, i= fuming and fretting, He bumped into Kamath. GM (Materialg), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. harely four months
after he took up his present assignment.

The wvear was 2021 when Naik quit the prestigious SATL plant at Vishakapatnam.
As a manager materials, Nailk enjoyed powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's prior approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGMN Materials. The
plant 1s a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. designation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the euecalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Es. 12 lakh. He had presumed that he
had the authority to place an crder by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up in the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld payment for the reason that the bill was not endorsed by Kamath. Kamath refused
to s1gn on the hill as his approval was not taken by Naik before placing the order.

Naik felt fumigated and cheated. A brief encounter with Kamath only aggravated the
problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to quit.
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As per the passage. who 1= at fault?
I F ATE, HE o R

Options:-

o Mr. Naik #iae®
Optlon ID :- 9721

Mr. Kamath  #7 =m2 ,
Option ID :- 9722,

Both Mr. Naik and Mr. Kamath  #1 715% 3 21 F74, 7 i
Option ID :- 9723,
. Human Resource Department  ®a SEEA =4
Option ID :- 9724,

Human Resource Department #WFF TEEA F97

Answer Given:- , Option ID : -9724

Question ID:- 2432
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Read the given passage and answer the guestion.

Naik. AGM Materials, 1= fuming and fretting. He bumped into Kamath. GM (Materialz), threw
the resignation letter on his table. shouted and wallked out of the room swiftly.

Naik has reason for his sudden outburst. He has been driven to the wall. Perhaps. details of
the story will tell the reasons for Naik's bile and why he put in his papers. harely four months
after he took up his present assignment.

The wvear was 2021 when Naik quit the prestigzious SAIL plant at Vishakapatnam.
As a manager materials, Nailk enjoved powers — he could even place an order for materials
worth Rs. 25 lakh. He needed nobody's pricy approval.

Naik joined a pulp-making plant located at Harihar in Karnataka. as AGM Materials. The
plant 15 a part of the multi-product and multiplant-conglomerate owned by a prestigious
business house in India.

Obviously. perks. desiznation and reputation of the conglomerate lured Naik away from the
public sector steel monolith.

When he joined the eucalyptus pulp making company. little did Naik realise that he needed
prior approval to place an order for materials worth Rs. 12 lakh. He had presumed that he
had the authority to place an crder by himself worth half the amount of what he used to do at
the mega steel maker. He placed the order. materials arrived. were received. accepted and
used up 1n the plant.

Trouble started when the bill for Rs. 12 lakh came from the vendor. The accounts department
withheld pavment for the reason that the bill was not endorsed by Kamath. Kamath refused
to s1gn on the bill as his approval was not taken by Naik before placing the order.

Naik felt fumigated and cheated. A brief encounter with Kamath only aggravated the

problem. Naik was curtly told that he should have known company rules before venturing.
Naik decided to guit.
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Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Beason (R) :

Assertion (A) : It was rght on the part of accounts department to withheld payment.

Reason (R) : My, Naik had the authority to place the order for materials worth
R=.25 lakh.

In the light of the above Statements. choose the correct answer from the options given helow :
T 7 FeW 7Y T E : UF T9%eH (Assertion A) F #9 § f@a 2 A1 790 39F FEW (Reason R) F

e (A4) AT 4 T T = Fr1 FE

a+ (R) : ofi A5F = UE 25 TG T T T HEAT =60 A7 54 AEE 97|
YA HYA F A A, A T e dr # # weE 39gE 3w =9 fian
Options:-
Both (A) and (R) are true and (R) 1s the correct explanation of (&)

(A) =0T (R) 54T 09 3 37T (R). (A) #1971 =90 = |
Option ID :- 9725,
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Both (A) and (R) are true but (R) 1= NOT the correct explanation of (A)

(A) ¥ (R) 21 &4 &, =ii# (R). (A) F1 F#1 =amen 74 7 |
14
Option ID :- 9726,
(A) is true but (R) is false  (A) 57 2, =if# (R) 9973 7 |
I
Option ID :- 9727,
(A) is false but (R) is true  (A) /& &, =5 (R) T 7|

Option ID :- 9728,
(A) 12 true but (R) 12 falze (A)#@mT 2, =9 (R) 31973 7 | , Option ID : -9727

14

Answer Given:-




